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Group Number : 1
Group Id : 75322956
Group Maximum Duration : 0
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Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability

Section Id : 75322956

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 75322966

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7532291011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

KDXE, RIEJ, YNLO, FSSU, MXZY
Options :

1. ® RIEJ

2. % YNLO

3. ¥ FSSU

4. ® MXZY



Question Number : 1 Question Id : 7532291011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad S1aR-THg Y&l H TTeld U JTd Hifeie:

KDXE, RIEJ, YNLO, FSSU, MXZY
Options :

1. = RIEJ

2. % YNLO

3. ¥ FSSU

4. % MXZY

Question Number : 2 Question Id : 7532291012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

HN22, PT36, XZ50, ? , NL26
Options :
1. % EF12
2. % FEI2
3. % FFI11
4, ¥ FF12

Question Number : 2 Question Id : 7532291012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad s1eR-THg SRael ¥ I Ug JTd SIfoid:

HN22, PT36, XZ50, ? , NL26
Options :

1. ® EF12

2. % FEI2




3. ¥ FF11
4. ¥ FF12

Question Number : 3 Question Id : 7532291013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four pairs of words are given. Find the odd one out.
Options :

1. % White : Snow

2. % Red : Blood

3. ¥ Brown : Sky

4. % Green : Grass

Question Number : 3 Question Id : 7532291013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y3l & IR T 3T T2 B 379 I 90 &l uganyg|
Options :

1. % ghg : I

2. % dIcT : ad

3.9 W AP

4, % X[ .Y

Question Number : 4 Question Id : 7532291014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related number from the given alternatives.

GH:78::DE:?
Options :
1. % 33
2. % 53



3.9 45
4. % 36

Question Number : 4 Question Id : 7532291014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T fdemen O & e T= &1 gA1d 63|
GH:78::DE:?

Options :

1. % 33

2. % 53

3.9 45

4. % 36

Question Number : 5 Question Id : 7532291015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If KIND is coded as 8567, WATER 1is coded as 14329, what will be the code for TINDER?
Options :

1. % 356792

2. % 357629

3. ¥ 356729

4. % 336792

Question Number : 5 Question Id : 7532291015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g KIND T HC § 8567, WATER BT HC g1 4329, A 3T HTST H TINDER HT FHe T G2
Options :

1. % 356792

2. % 357629



3. ¥ 356729
4. % 336792

Question Number : 6 Question Id : 7532291016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of children, who are facing north. Abhas is 19th from the left end and second to the right of Suresh, who is 17th from the right end .
How many children are there in that row?

Options :
1. % 32
2.9 33
3. % 34
4. % 35

Question Number : 6 Question Id : 7532291016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S Bt U Ufera B, ROFeT T SR 1 3R B 1 MU, P S T BR Y 197 IR IA AR /AR E, SNIA BRI 173 AW 81 39
ufe & fore s

Options :

1. % 32

2.9 33

3. % 34

4. % 35

Question Number : 7 Question Id : 7532291017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six friends Gagan, Igbal, Jeetu, Krishna, Lalit and Manish are working in different companies. For example, A, B, C, D, E and F, but not
necessarily in the same order. Each of them likes a different color viz- orange, green, blue, yellow, red, and white but not necessarily in the same
order.Jeetu likes red color but does not work in company E or D. The one who likes Yellow works in Company B. Lalit works in company F and
likes green color. Krishna does not like orange, yellow or blue color. The one who works in company C likes White. Gagan does not work in
company C and Manish does not work in company E or D. Igbal likes blue color but does not work in company D.



Who works in Company A?
Options :

1. * Manish

2. % Krishna

3. ¥ Jeetu

4. % Igbal

Question Number : 7 Question Id : 7532291017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B: TR T, SHAT, Siid, HM, Aferd 3R A SeHT-3eT HUal H BTH B & | S¥-A, B, C, D, E Td F, Al o] Tal f s wa #
BNISTH T TS B S(QT ST T TG g | S AT, &1, e, i, a1, 3R gihe alfde] s g fob St W | 81| S &1 ardt <
¢ § s 98 Ul E U1 D H S1H el Ha g | Fo didlr Ui 8 a8 Uit B H 10 &Hal g | Afeid U=t F H TH Bl & 3R 39 831
TS g | HON ! AR, Uil a1 el T uRie T8 81 S Ut ¢ H B HRdT | 39 e TN 8| T $UAT C H &1 8! rdl g 3R
Y Ut E I7 D H BT Tl Bal & | IHaTd i il T Ude g Afch 98 Ut D H BT T8l Rl g "

ST A T DI B BT 82
Options :

1. % 7y

2. % Pu

3. ¥ Siiq

4. % ghdld

Question Number : 8 Question Id : 7532291018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
All neighbors are friends.
No friend is classmates.



Conclusions:
(I) Some neighbors are classmates.
(IT) No classmates is friend.

Options :

1. # Only I follow

2. % Only II follows

3. % Both I and II follow

4. # Neither I nor II follows

Question Number : 8 Question Id : 7532291018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol oy o & Sy fqu T § foHe a1e & Feps 19 11 f4U U § Siueh! 371 U=l &l 9 T &, Yol &1 d Jard adl 9 e Tl
gId 8| AU T Fepel & 9 i A1 fhy AT T 637 &7 arfdhds © 0 I SaR0I axal g |

HY:

Tt ySRft SRa B

PIs i gguTe! 18 5|

fsem:

() B TSR Fgurel g

(11) BT TguTS! iy 7T 3

Options :

1. % $Had [T5HY [ 3ITRV Hal &

2. ¢ Had (BN 11 SR Rl §

3. % GHFI FSHY 1 T 11 SR H-d &
4. % T FpY 17 81 Fpd 11 SFER0 R 8

Question Number : 9 Question Id : 7532291019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.



Statement:

All business are profit.
Some profit are sale.
Some sale are loss.

Conclusions:
(I) Some sale are profit.
(IT) Some business are sale.

Options :

1. ¥ Only I follow

2. # Only II follows

3. # Both I and II follow

4. % Neither I nor II follows

Question Number : 9 Question Id : 7532291019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaffad uy & &9 wy= Ry Tu R S a8 €1 fsed 19 1 U U R 3iueh) 39 U=l &1 I AT, Hal 81 3 Jawid aeit § firet uelia
gid 81| 3T 7T ol & ¥ 314 11 fsh faT T4 o &7 dlfdhes 0 H SI¥R0I T 6|

hY-:

gt gAY g |
F3 a1 faent g
$3 ! JTHaH B

fm:

(1) 3 eI Ay g

(1) $S TaIY faeh! § |

Options :

1. ¥ $Had [T5HY [ 3IERV Hal §

2. % Had fHY 11 TR0 HdT &

3. % GHI FSHY 1 TT 11 SR H-d §

4. % T3 fsHy 179 8 e 11 R0 HRaT @



Question Number : 10 Question Id : 7532291020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by three conclusions numbered 1, IT and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

All animals are lion.
Some animals are camel.
No camel is deer.

Conclusions:

(I) Some animal are deer.
(IT) No animal is deer.
(IIT) No deer are lion.

Options :

1. * Only I follow

2. % Only II follows

3. % Only III follows

4. + Either I or II follows

Question Number : 10 Question Id : 7532291020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy & 9 oy fiu e 3 5 a1g 9 fses 1, 11 111 3T 71U B 3ueh) 391 Sl &) T AT 8, Hal &1 3 Faqnd it 3 first
gdid g 811 fou e feersf & § &1 a1 feesdf 3T 78 2 &1 difthes 0 I SER0 Rl ] |

DHY:

I SR W B

$E SR e gl

Pl SHe XU TR 3|
fsep;

(1) PO THR ROl
(I1) DT SR R0 T81 5
(ITT) BS FRR0 R AL &




Options :

1. # $Had [T5HY [ 3IERU Hal §

2. % %Had fSHY 11 ST BT &

3. % Had sy 111 3R Hal §

4. 1A e 1 7 F5hY 11 SRR el §

Question Number : 11 Question Id : 7532291021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

0.16:0.0016::1.02:?
Options :

1. % 10.20

2. % 0.102

3.9 0.0102

4. % 1.020

Question Number : 11 Question Id : 7532291021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefeiRed U= # fau e fasb el 4 JeaifRid &1 o1 98 Bl | |
0.16:0.0016::1.02:?

Options :

1. % 10.20

2. % 0.102

3.40.0102
4. % 1.020

Question Number : 12 Question Id : 7532291022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the question below, a statement is followed by two conclusions. Study the conclusions and select the correct option as the answer.

Statements:
A<M,0<M<B>Y<LT

Conclusions:
I.LA=0O
LY <A

Options :

1. # Both follow

2. ¥ None follows
3. % Only I follows
4. % Only II follows

Question Number : 12 Question Id : 7532291022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TN UY H YT P 3MUR WR & Fspd fHepTa od 8 1 Feepd o1 31ezae 63 iR IR & =0 § gt A et o1 Tud B |

DY
A<M,0<M<B>Y<T

frep:
.LA=0O
ILY<A

Options :

1. % G 3I¥RU & §

2. ¥ I ATIRUI ] TR §
3. % Had | IR0 HdT §
4. % HI I IRV BT §

Question Number : 13 Question Id : 7532291023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

18,31,42,49, 54,7
Options :

1. ® 56

2.9 57

3. % 62

4. % 60

Question Number : 13 Question Id : 7532291023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35 ust §, fGT T e O I qud g &1 9T He |

18,31, 42,49, 54, ?
Options :

1. #® 56

2.9 57

3. % 62

4. % 60

Question Number : 14 Question Id : 7532291024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents international news, circle represents regional news, pentagon represents local news, rectangle
represents political news and square represents economic news.

What does letter ‘M’ represents?



Options :

1. ® Political news, local news, economic news and regional news but not international news
2. ¥ International news, political news, local news and regional news but not economic news
3. # International news, political news, economic news and regional news but not local news

4. ® BEconomic news, political news, regional news and local news only

Question Number : 14 Question Id : 7532291024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad smw H, Ay siargia TuraR &1 UiafRfta Sdl 8, 31 &30 FHER 1 Ui S 8, Tt I SHER 61
IATTE BT &, 3 ISP THER BT UTdFTIE HRal g 3R a7 $f1iie SRR ST Ui ia a5

&R ‘M’ fpgeT ufaffda g2




Options :

1. % IS FHER, MY THER, 31fie FHER SR &9 JHER dfe SiaRisi gameER T8l
2. ¢ JRIFTI FHAMER, IS FHER, RIF FHER 3R &9 FHER dfdb 31fie TameR T8l
3. % JRITT FHER, IeHifded THER, e THRR 3R &1d JHER i RIFHYT JHER 761
4. % Pad e THRR, IeHifde THRR, &= AR 3R WG JHRR

Question Number : 15 Question Id : 7532291025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents silver medal, circle represents gold medal, pentagon represents bronze medal, rectangle represents
athletes and square represents cash prize.

What does letter ‘C’ represent?



Options :

1. ® Athletes who got silver medal, bronze medal and gold medal but not cash prize
2. ®% Athletes who got silver medal, bronze medal and cash prize but not gold medal
3. ¥ Athletes who got gold medal, bronze medal and cash prize but not silver medal

4. ® Athletes who got gold medal, silver medal and cash prize but not bronze medal.

Question Number : 15 Question Id : 7532291025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad sma &, Ay oI Ues &1 Ufaida Bl g, I WUl Uadh &I Ui Sl g, T U i U B Wiaieid sl g,
3T TYe] &I Ui BT § 3R I Fahg REBR &1 WfafAfda Har g

3eR ¢’ frge ufaffia g2




Options :

1. % gydiie S oId U, Hi Ue® 3R vl uge i dfd Tohe RIBR -1g! fira
2. % TYTiie S5 YoId U, B Uadh 3R Tah¢ JRIGR HaT i1 Tq0i Uge -g! el
3. ¢ TYdite [T W0l Ugd, S Uadh 3R Fahe RIGR a1 afds Ioid e gt el
4. % YA forg 9ol Ugd, ToId Uedh 3R e REDGR e dfd Hieg Uee gl firar

Question Number : 16 Question Id : 7532291026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

L @] m | m =
% m 5 O 4
ml 2 [m/ g B |2
Options
]
= S
=
1_% L




;"/FEK\
B j
2. ® S|
m]
[ %
i
3.¢
P B
/ B8
SIRL)
i
4. % El/

Question Number : 16 Question Id : 7532291026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ST DT g9 DX Sl FEfeiRad spfa §aa § Uy fag (7) ol ufdi1iud B |

e s - ; .

C B VE o (O Vm

% H| [ ?
2 ® /N |y B |z

NP4 B . |

Options :



B N
=
1'23 |~
f’f@“\
B J
- NYL:1 %
=]
[ %
i
3. ¢
P [T
/ B8
SIRLD
i
4. % \‘h@/

Question Number : 17 Question Id : 7532291027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one in which the question figure is hidden/embedded.



T(c_ :

Options :




Question Number : 17 Question Id : 7532291027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu TQ faeent & 9, I MTPfa &1 99 B S0 Uy 3nepfa srafifea / fsdt g2

OF

#

—

Options :

2.¥




Question Number : 18 Question Id : 7532291028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given alternatives select the one which is the mirror image of given Question Figure .

,u"l __-".fl_,."r;."r l',-'r /, IIIu-lll.ll--'.ll-:Ill "J:I.-": .-"I:I-'"ll E

LA

Options :




3. %

4.

Question Number : 18 Question Id : 7532291028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu U fasedl @, I SM1opfa &1 7= B S fou U uy 3iapfa o1 guur ufafes 3

.-"'f_.-""rr-'r;.-" i //f Fi ,.-"' "':-' J.- "'f.- ,-'i,.-"l =

= l-"’ Fi

Options :




4.9

Question Number : 19 Question Id : 7532291029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of hexagon in the given figure.

Options :



1.¥5
2.%6
3.% 7
4. % 8

Question Number : 19 Question Id : 7532291029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 11 3B W Wy B BT T I

Options :
1.¥5
2.% 6
3.% 7
4, % 8

Question Number : 20 Question Id : 7532291030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.



Options :
L/

2.¢

Question Number : 20 Question Id : 7532291030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau U fa el O @ 39 fabed &1 AU S Uy 3HThid &l R dR|

Options :
L/

2. ¢

4. %



General Awareness

Group Number : 2

Group Id : 75322957
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 75322957
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322967
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532291031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is Baha'i Mashriqu'l-Adhkar, better known as the "Lotus Temple" located in India?



Options :

1. # Tamil Nadu
2. # Karnataka

3. % Gujarat

4. ¥ New Delhi

Question Number : 21 Question Id : 7532291031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9818 HRINGA-3HYHR, FoI » Teq A" & 1 I ST offd &, HRd H Hal (Ud g2
Options :

1. % diEeHrg

2. ® FHAlCH

3. % ToRId

4. ¢ T3 faeeh

Question Number : 22 Question Id : 7532291032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which painting is also known as Mithila art?
Options :

1. % Pattachitra Painting

2. % Warli Folk Painting

3. ¥ Madhubani painting

4. % Kalamezhuthu Painting

Question Number : 22 Question Id : 7532291032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopg U o) FRIRIe et & =10 o SIHT ST 82

Options :



1. % yerfem Ufd
2. % qRAI e UfeT
3. ¢ AYS! UfeT
4. % DHamHgy U

Question Number : 23 Question Id : 7532291033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a classical dance form revitalised as a result of Mughal influence on Indian culture.
Options :
1. * Bharata Natyam
2. ¥ Kathak
3. # Kuchipudi
4. % Qdissi

Question Number : 23 Question Id : 7532291033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP YRAEN T 8 S YR Wi IR e THTE & TRUMTHRGEY gAsiiad gai|
Options :
1. % YRd AIIH
2. ¥ HYdh

3. % Pyet
4. % Ifsa

Question Number : 24 Question Id : 7532291034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gautama was the original name of Gautam Buddha.
Options :
1. % Sushant



2. % Shiva
3. * Sridhar
4. # Siddhartha

Question Number : 24 Question Id : 7532291034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MdH g5 &1 gd 91 Maw Tl
Options :

1. % grid

2. % fR@

3. % 4R

4. ¢ g

Question Number : 25 Question Id : 7532291035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Non-Cooperation Movement was pitched in under the leadership of and the Indian National Congress from September 1920 to
February 1922.

Options :

1. % Nana Sahib

2. ¥ Mahatma Gandhi

3. ¥ Tantya Tope

4. ® Sardar vallabhbhai patel

Question Number : 25 Question Id : 7532291035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIEUNT 3iGIe Bl 3R HRY ST B & Aqed | RicdeR 1920 F WA 1922 Teb <l 74T U
Options :

1. ® A 98

2. ¢ HETAT et




3. % qidgr ey
4. % IER IEAYHTS U

Question Number : 26 Question Id : 7532291036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Mughal Emperor Aurangzeb ruled for about years.
Options :

1. % 40 years

2. # 30 years

3. ® 20 years

4. ¥ 50 years

Question Number : 26 Question Id : 7532291036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T JUE RTOE A AT 3u| adb e fdar|
Options :

1. % 40 qu

2. % 30 9

3. % 20 9N

4. 50 qul

Question Number : 27 Question Id : 7532291037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state became the first Indian state to provide reservation for transgenders in all government services?
Options :

1. ¥ Karnataka

2. % Kerala

3. % Uttar Pradesh



4. * Himachal Pradesh

Question Number : 27 Question Id : 7532291037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B A1 o T W Jarsil & TiRisiex] & folT SIREU T HR aTal Ugdl YR o9 & 77 82
Options :

1. ¥ FCH

2. % B

3. % WU

4. % fgHMEQ UG

Question Number : 28 Question Id : 7532291038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BS Yediyurappa has recently resigned as the Chief Minister of which state?
Options :

1. # Assam

2. # Sikkim

3. ® Himachal Pradesh

4. ¥ Karnataka

Question Number : 28 Question Id : 7532291038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e AfegR 3 51 & § for Isu & Gl ue @ gt fean 32
Options :

1. % 3H

2. % RYfden

3. % fgumad ue=

4. HAlcH



Question Number : 29 Question Id : 7532291039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Vikramshila Wildlife Sanctuary is located in
Options :

1. # Uttarakhand

2. % Rajasthan

3. % Bihar

4. % Kerala

Question Number : 29 Question Id : 7532291039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fasprlRen g=2mlg svaRvg . A fyd gl
Options :

1. ® RIS

2. % ST

3. ¢ fogR

4. % PR

Question Number : 30 Question Id : 7532291040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian Wildlife Protection Act was implemented in the year
Options :

1. % 1974

2. % 1982

3. % 1980

4.+ 1972

Question Number : 30 Question Id : 7532291040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR a=oia TRET SIef-oe ay ESIUERIRIIRIT
Options :

1. # 1974

2. % 1982

3. % 1980

4. ¥ 1972

Question Number : 31 Question Id : 7532291041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“The Iron Man Of India” is an epithet given to
Options :

1. ¥ Sardar Vallabhbhai Patel

2. % Lala Lajpatrai

3. ¥ Jamshetji Tata

4. % Subhash Chandra Bose

Question Number : 31 Question Id : 7532291041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g IRATT Hm efear S IR UE U Bl
Options :

1. ¢ TR THHTS Ued

2. % Il dISTUdRTd

3. % SHRIGuI Clel

4. % U I% &I

Question Number : 32 Question Id : 7532291042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who is the head of the Municipal corporation of most states in India?
Options :

1. # Chief Minister

2. ¥ Mayor

3. ® Governor

4. * Prime minister

Question Number : 32 Question Id : 7532291042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA 7 3T Ieat & TR T 51 g &4 gl 82
Options :

|, % QEmHl

2. ¥ U

3. % YyUTed

4. % Gy w41

Question Number : 33 Question Id : 7532291043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vibrio cholerae is a shaped pathogen.
Options :

1. % Rod

2. % Spiral

3. % Comma

4. % Circular

Question Number : 33 Question Id : 7532291043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CICRIGSIRES 3HR BT IS ¢ |




Options :
1. % g
2. % gitd
3. ¥ Bl
4. % g

Question Number : 34 Question Id : 7532291044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Indian Bureau of Mines Report 2018, which among the following is the largest mica producing state in India?
Options :

1. % Maharashtra

2. % Karnataka

3. ¥ Andhra Pradesh

4. ¥ West Bengal

Question Number : 34 Question Id : 7532291044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e SRT 3iTh Az RUlE 2018 & SR, FAfRed o @ YR T T2 ST 31U IATGH Iod HIF 11 82

Options :

1. % HERIY
2. % PHlcH

3. ¢ YUY
4. % UigH A

Question Number : 35 Question Id : 7532291045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of a sound wave determines loudness of sound.
Options :



1. # Speed

2. # Frequency

3. % Wavelength
4. ¥ Amplitude

Question Number : 35 Question Id : 7532291045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GRITH e it ugad o Ruild srar g
Options :

1. % T

2. % 3Iqf

3. % qaTey

4. ¢ 3H

Question Number : 36 Question Id : 7532291046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the SI unit of electrical resistance?
Options :

1. # Mole

2. % Volt

3. % Ohm

4. % Ampere

Question Number : 36 Question Id : 7532291046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faggd ufeRy P1 S1 3HTE T B2

Options :

1. % Oid



2. % diee
3. ¢ 3H
4. % THURR

Question Number : 37 Question Id : 7532291047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is a paper instructing the bank to pay a specific amount from the person’s account to the person in whose name the paper has been
issued.

Options :

1. ¥ Cheque

2. % Recurring deposit
3. # Fixed deposit

4. % Debit card

Question Number : 37 Question Id : 7532291047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ UH IR &6 P 39 Al & W W U ARy R 1 Y HA b1 A Sar § R AW R 9w o fear mar g
Options :

1. ¥ b

2. % 3ffadl o

3. ® Hrafey oAl

4. % Sfqcare

Question Number : 38 Question Id : 7532291048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Union List includes subjects such as
Options :

1. # Police, trade,agriculture and irrigation.

2. # Residuary subjects like computer software.



3. ¥ Defence, foreign affairs, banking, currency, communication.

4. ® Education, forests,trade unions, and succession

Question Number : 38 Question Id : 7532291048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tugdd SR fwm e g
Options :

1. % Yoy, STUR, Y 3R RiEms|

2. % HEEX YTeatR oY Safer fawg|

3. ¢ &1, fag ama, dfdh, g, daR|

4. % T1efT, 99, AUR AT 3R STRIVSHR

Question Number : 39 Question Id : 7532291049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Elaine Thompson-Herah is a

Options :

1. # Boxing Player

2. # Hockey Player

3. % Badminton Player

4. ¥ Sprinter

Question Number : 39 Question Id : 7532291049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl YTg-8%1 U g

Options :

1. % gifegT Raars!
2. % glob! RSt

3. % gefied faars



4. ¢ YIddh

Question Number : 40 Question Id : 7532291050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first Asian to have been honoured with the Nobel Prize for Economics?
Options :

1. # Mother Teresa

2. ¥ Amartya sen

3. % Chandrashekhar Venkataraman

4. # Hargobind Khorana

Question Number : 40 Question Id : 7532291050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & A1oe REPR T JHIE 8 aTel Tgdl TR B 82
Options :

1. % HaR Xl

2. ¢ 3 T

3. % FGRER doheTHT

4. % GNfeE QI
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Question Number : 41 Question Id : 7532291051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

—of Y125 = 20f 256

Options :
1. % 42
2. % 40
3. % 49
4. 44

Question Number : 41 Question Id : 7532291051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFafaRad us H usiaras g (2) & R IR 31 719 ST

] LLILL

af 2 bt
V125 T s V256 <l ;

Options :
1. #= 42
2. % 40
3. % 49
4. 44

Question Number : 42 Question Id : 7532291052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

(422 +45)+ (30 +37)=7x3

Options :
1. = 11
2.% 8
3. % 12
4. ¥ 9

Question Number : 42 Question Id : 7532291052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgferfad uy o uearee g (2) & R IR 31 HE ST

(422 +45)+ (30 +37)=2x3



Options :
1. % 11
2. % 8
3. % 12
4.¥9

Question Number : 43 Question Id : 7532291053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

SH5+4x4+2X5x4L
ExE—4x4

i."j

Options :
1. % 6
2.% 7
3.% 11
4. ¥ 9

Question Number : 43 Question Id : 7532291053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgferiad uy o uearee g (2) & R IR 31 HE ST

5xX5+4x4+2X5x4
SxE—4x4

l.'?

Options :
1. % 6



2.% 7
3.% 11
4.9

Question Number : 44 Question Id : 7532291054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The L.C.M. of two different numbers are 30. Which of the following cannot be their H.C.F.?
Options :

1. % 6

2. % 15

3. % 10

4. ¥ 12

Question Number : 44 Question Id : 7532291054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l SITT-31CT TRATS BT TYTH AU 30 & | FEfRad # ¥ S A1 3761 HeaH THIad® Tl 81 adhdl 87
Options :

1. %6

2. % 15

3. % 10

4.9 12

Question Number : 45 Question Id : 7532291055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average output of n machines is k units per day. If one of the machines is excluded, whose output is 780 units per day, the average output
will decrease by 30 units. Instead, if one dead machine is included, the average output will decrease by 90 units. What is the total output of n
machines?

Options :
1. * 4020



2. % 3900
3. # 3640
4. % 3780

Question Number : 45 Question Id : 7532291055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

n A=A BT 3N IATE k DTS Uidied g1 afe a=ii & A T &) geT fear oiidl 7, T Idred Ufd fa 780 SH1S ¢, af i gd Idre &
30 TS 1 HHI AT S| 3B T, TS T s AR B! 2NfHe fHar Srar g, O 3id IdTeT | 90 ShTs &1 HHT | o A=A BT
$d IadTe b1 g2

Options :

1. % 4020

2. % 3900

3. % 3640

4.+ 3780

Question Number : 46 Question Id : 7532291056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person takes a contract to construct a road. He constructs 20 percent of the road on the first day, 30 percent of the remaining road on the second
day, 50 percent of the remaining road on the third day, and the rest 7 km road on the fourth day. What is the length of the road?

Options :

1. % 50 km
2. % 35km
3. % 25 km
4. % 49 km

Question Number : 46 Question Id : 7532291056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T i &P AU BT ST oidl & | T8 Ugd T 20 U= TS& &1 FHT0 Rl 8, VY TS B 30 UTIRId G &, VY TSP B 50
TR TR e STR QW 7 et ws s 91 o o1 3 | IS B T e 82




Options :

1. % 50 ot
2. % 35 fopril
3. ¢ 25 fort
4. % 49 forit

Question Number : 47 Question Id : 7532291057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A retailer buys a computer at 30,000. If he spent some overhead expenses on it and sells the computer for 43750 at a profit of 25 percent.
Overhead expenses are what per cent of cost price.

Options :

1. % 12.67 percent
2. % 15 percent

3. % 20 percent

4. ¥ 16.67 percent

Question Number : 47 Question Id : 7532291057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS g1 ATIRY 30,000 TUY H Th HELR WGl | Al T8 T4 R $S AARad T Hal & 3R 25 YA & ATH TR HELR Bl 43750
=Uu H S 8, 41 3ifafved Tl g geg &1 fbar ufawa 82

Options :

1. % 12.67 Ufdwrd
2. % 15 Yfad

3. % 20 yfawrd

4. ¥ 16.67 Ufa<rd

Question Number : 48 Question Id : 7532291058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By selling 16 pencils for Rs. 20, a man incurred a loss of 1 percent. How many pencils must he sell for Rs. 20 in order to make a gain of 32



percent ?
Options :
1. % 8
2.9 12
3.9
4. % 6

Question Number : 48 Question Id : 7532291058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 30U H 16 URIS STDHR, Teh SAfeR] A 1 UA=Td B 811 b1 | T8 20 YA H fobei1 Ut o fob a8 32 Ufd=1d &1 &y HH
Options :

1. % 8

2.% 12

3.9

4. % 6

Question Number : 49 Question Id : 7532291059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item is purchased at Rs.720, when the item is sold to a customer, 10 percent. profit is earned, then at what price the item is sold?
Options :

1. ¥ Rs.756

2. % Rs.864

3. ¥ Rs.792

4. % Rs.828

Question Number : 49 Question Id : 7532291059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP a1 720 ST T WIS ST 5, I 9% D! U U6 DI 9T STl &, <l 10 UTA=Td ATH UTed BielT &, ) axd ! fhd S 1Hd OR o1 T

Options :




1. % 756300
2. % 864 30Y
3. ¢ 79230
4. % 828 >UY

Question Number : 50 Question Id : 7532291060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man has 15.4 kg potatoes. He divides them into two parts. From the first part, he makes ajiaco, aligot, aloo pie and uses potatoes in the ratio 2 :
3 : 4. From the second part, he makes cheese fries, chips, coddle and uses potatoes in the ratio 5 : 7 : 4. If he uses the same quantity of potatoes to
make ajiaco and cheese fries, then find the quantity of potatoes to make coddle.

Options :

1. ¥ 1.6 kg
2. % 2.1kg
3. % 1.3 kg
4. % 25kg

Question Number : 50 Question Id : 7532291060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3HTeH & U 15.4 .71, 3T ¥ 1 98 I & I & Sicdl ¥ 1 Uge T & 98 3ifrare!, Teliviie, 31 UTs sATdi g 3R 2 : 3+ 4 F 3Urd
H SIS T ITANT HRAT & | GO HIT J I8 ool TS, e, Pled S1d1 8 3R 5: 7: 4 & U H 31 BT YT Rl 5 | TS 98 Sforren!
3R IS W18 S & T T AT & 311 T SUTNT BT 8, Al HISd S b ol 3MTe B! AT 1 BT |

Options :

1. 1.6 fob.am.

2. % 2.1 b

3. % 13 b

4. % 251H .1

Question Number : 51 Question Id : 7532291061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



4 years ago age of A was 1.5 times of that of B and difference between their ages after 4 years will be 20 years, then what is the present age of A?
Options :

1. % 72 years

2. # 60 years

3. ¥ 64 years

4. % 48 years

Question Number : 51 Question Id : 7532291061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
4TS UGA A BT I B P MG BT 1.5 7T AT 3R 4 TY & 918 371 AT H 20 I BT 3R BN, AT A BT IdHH 311 fava1 62
Options :

1. % 7299
2. % 609y

3. v 64dY

4. % 48 qY

Question Number : 52 Question Id : 7532291062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arun lent Rs. 4000 in two parts. He lent each part for a year. He lent Rs. 2500 at 12 percent p.a. and the remaining at 10 percent p.a. simple
interest. Find the effective rate of simple interest at which he lent the entire sum.

Options :
102 percent
% 4

11% percent
2. 4

- lzipcrmlt



4 % 11 percent

Question Number : 52 Question Id : 7532291062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T 4000 FUT g1 I H IR T I UAS U 1 Th I o ot IYR fordam | I 2500 39T W 12 Ufa=rd ufd I SR 29 {10
Ofer=Td i a8 TR &7 IR YR 0T | AR 1St &1 GHTAT &R Bt 0T Siford, Ford IR 39 I 11T SUR

Options :

1
. 1(};91‘?—‘1‘41?

1.

11> gferera
o 4

2.4
1
.- 1219‘%*41?-1'

4w 11 ST

Question Number : 53 Question Id : 7532291063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a train running at a speed of 54 km/hr crosses a man standing on the platform in 32 seconds, then find the time taken by the train to cross a
platform of length 720 metres.

Options :

1. # 72 seconds
2. % 64 seconds
3. % 80 seconds

4. % 90 seconds



Question Number : 53 Question Id : 7532291063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe U ¢ 54 faret/eieT @1 1fa ¥ Iad §U U WehTH R WS U Afad ! 32 VS T UR H & dl ST o &l 720 Hiex T WehH
P UR H ¥ food=1 gwg @

Options :

1. % 72qdbs

2. % 64 e

3. ¥ 80 Abhe

4. % 90 s

Question Number : 54 Question Id : 7532291064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two cars P and Q start at the same time from A and B which are 240 km apart. If the two cars travel in opposite directions, they meet after 2 hour
and if they travel in the same direction (from A towards B) P meets Q after 8 hours. What is the speed of the car P?

Options :

1. # 60 km/hr
2. % 75 km/hr
3. # 80 km/hr
4. #* 70 km/hr

Question Number : 54 Question Id : 7532291064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BR P 3R Q &l gl HHA: A 3R B I U & IHY Tl § S g &t g 240 fpefh. B 1 afe S R e faudia famn & =rercht §
I 3 2 °e 91 A § 3R afe SHi PR U & A= H (A ¥ B T kW) Fadi & dl P, Q I 8 T 1 fad § 1 SR P Bt 71fd &1 32
Options :

1. % 60 fopdl/ gt

2. ¢ 75 fHHl der

3. % g0 fopddl/ der

4. % 70 fpdl der




Question Number : 55 Question Id : 7532291065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a certain work in 20 days and B can do the same work in 24 days. A works alone for 1 day, then B works alone for 2 days, then A
works alone for 3 days, then B works alone for 4 days, and so on. On which day will the work be completed?

Options :

1. ¢ 221 day
2. % 20t day
3. % 24th qay
4. % 231 day

Question Number : 55 Question Id : 7532291065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TH FAfa sri &) 20 o & R Tohar g 3R B I H1 &Y 24 feTi A R qpar 31 A 316l 1 fo wrf avalr 8, foR B 31pat 2 o ek
a8, R A 3l 3 fod &rf v B, R B 31t 4 fad il v B, 9iR 32 are | v o faa i gvme

Options :

1.« 2ndfeq
2. % 20dfaA
3. % 24dfaT
4. % 233 f&T

Question Number : 56 Question Id : 7532291066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If efficiency of A is 20 percent more than B, B is 30 percent more efficient than C, then the efficiency ratio of A, B and C are respectively:
Options :

1.¥ 78:65:50

2. % 65:78:50

3. % 37:38:43

4, % 35:70:87



Question Number : 56 Question Id : 7532291066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A ) Bri-gerdn, B § 20 UTARId 31 &, B 1 drd-gerdl ¢ T 30 UfArd e &, at A, B 3R € &1 g&rdl BT SHHTT: 31U &
Options :

1. ¥ 78 :65:50

2. % 65:78:50

3. % 37:38:43

4. % 35:70:87

Question Number : 57 Question Id : 7532291067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On decreasing the length and breadth of rectangle by 20 percent and 25 percent, respectively, the area of rectangle decreases by 200 cm?, then
find the area of original rectangle.

Options :

1. ¥ 500 cm?
2. % 450 cm?
3. % 300 cm?
4. % 250 cm?

Question Number : 57 Question Id : 7532291067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 3Md 1 s 3R TSTS P HH: 20 YA 3R 25 YA T HH B W AT BT 8THA 200 JH2 J HH 81 O1dT 7, @l adiadh
3TId BT &FHd J1d HIToE |
Options :

1. ¢ 500 T2
2. % 450 TR
3. % 300 gHI2




4. % 250 U2

Question Number : 58 Question Id : 7532291068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teacher used chalks to write on the board, which are in the shape of a frustum. The volume of the chalk is 1.89 &t cm’, the bigger radius is
0.6cm, and the smaller radius is 0.3 cm. What is the length of the chalk?

Options :

1.¥ 9cm
2. % 7cm
3. % 10 cm

4. % 6.cm

Question Number : 58 Question Id : 7532291068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ o qu
2. % 7qHt
3. % 109
4. % ¢

Question Number : 59 Question Id : 7532291069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given table shows the number of visits of doctors in a hospital and their per visit fees.
There is no visit on Saturday and Sunday.



Doctor Monday | Tuesday | Wednesday | Thursday | Friday FEE(LPE; ';mt
Psvchiatrist 3 2 5 7 4 1200
Neurologist 1 2 4 3 2 1800
Eve Specialist ] 10 2 9 8 200
Cardiologist 5 5 2 - 2 1600

Dentist 12 14 10 11 15 800

Gvnecologist 9 7 8 10 12 1400
Pediatrician 8 15 12 7 1000

The weekly income of a pediatrician from hospital is what percent more than the weekly income of a dentist from hospital?
Options :

1. # 10.55 percent

2. ¥ 6.85 percent

3. % 5.45 percent

4. % 8.25 percent

Question Number : 59 Question Id : 7532291069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 10.55 Ufard

2. ¢ 6.85 Ufa=Id

3. % 545 gfa=rd

4. % 825 gfa=rd

Question Number : 60 Question Id : 7532291070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows the distance (in km) between two cities and speeds (in km/hr) of a boy to cover the respective distances.
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What is the average speed of the boy from city A to city F?
Options :

1. % 23.91 km/hr

2.+ 21.78 km/hr

3. % 19.47 km/hr



4. % 26.5 km/hr

Question Number : 60 Question Id : 7532291070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 23.91 fopHI/der

2. ¢ 21.78 fHi/Ea

3. % 19.47 fHi/Ea

4. % 265 fpHi/Ea
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Question Number : 61 Question Id : 7532291071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

If households feel financially inadequate and see greater risks to their wellbeing, they will not spend enthusiastic.

Note: For this question, discrepancy 1s found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :

1. If households feel financially inadequate and see
2. greater risks to their wellbeing, they are

3. not going to spend enthusiastic.

4. No error.

Question Number : 61 Question Id : 7532291071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

If households feel financially inadequate and see greater risks to their wellbeing, they will not spend enthusiastic.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. If households feel financially inadequate and see

2. greater risks to their wellbeing, they are

3. not going to spend enthusiastic.

4. No error.

Question Number : 62 Question Id : 7532291072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

Once the floods sets in for two to three months, everything comes to a standstill in those districts.
Options :

1. ¥ Once the floods sets in for two to

2. # three months, everything comes

3. # to a standstill in those districts.

4. % No error.



Question Number : 62 Question Id : 7532291072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

Once the floods sets in for two to three months, everything comes to a standstill in those districts.
Options :

1. ¥ Once the floods sets in for two to

2. # three months, everything comes

3. % to a standstill in those districts.

4. % No error.

Question Number : 63 Question Id : 7532291073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

Tea leaves is separate from the liquid with a strainer while preparing tea.

Options :

1. * was separate to

2. % were separating to
3. ¥ are separated from

4. % No substitution required

Question Number : 63 Question Id : 7532291073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

Tea leaves is separate from the liquid with a strainer while preparing tea.
Options :

1. # was separate to



2. # were separating to
3. % are separated from

4. # No substitution required

Question Number : 64 Question Id : 7532291074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given
sentence. If there is no need to substitute the bracketed part, select ‘No improvement’.

As she was (at a too great distance) to hear, I had to repeat every word.
Options :

1. ¥ at too great a distance

2. % No Improvement

3. % at too great distance

4. % at a great distance

Question Number : 64 Question Id : 7532291074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given
sentence. If there is no need to substitute the bracketed part, select ‘No improvement’.

As she was (at a too great distance) to hear, I had to repeat every word.
Options :

1. ¥ at too great a distance

2. % No Improvement

3. % at too great distance

4. # at a great distance

Question Number : 65 Question Id : 7532291075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

No worker has ever tried to live in a house.
Options :

1. ¥ soldier’s

2. # soldiers’

3. % soldier

4. % soldier’

Question Number : 65 Question Id : 7532291075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

No worker has ever tried to live in a house.
Options :

1. ¥ soldier’s

2. % soldiers’

3. # soldier

4, % soldier’

Question Number : 66 Question Id : 7532291076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Two images to mind during the recent furious protests: alleged police and tragic deaths.
Options :

1. ¥ came, brutality

2. ® come, brutality

3. # came, brutal

4. % coming, brutal



Question Number : 66 Question Id : 7532291076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Two images to mind during the recent furious protests: alleged police and tragic deaths.
Options :

1. ¥ came, brutality

2. # come, brutality

3. % came, brutal

4. ¥ coming, brutal

Question Number : 67 Question Id : 7532291077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

The school teacher was angry Naveen Kumar as he not dressed properly.
Options :

1. ¥ with, had

2. # upon, have

3. % with, having

4. # at, has

Question Number : 67 Question Id : 7532291077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

The school teacher was angry Naveen Kumar as he not dressed properly.
Options :
1. ¥ with, had

2. % upon, have



3. % with, having
4. # at, has

Question Number : 68 Question Id : 7532291078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives, which would be the most logical sequence of the sentence in the passage.

S1. Most of the people acquire

P. which makes them hesitant

Q. their ancestral culture and

R. to accept new ideas and theories of
S. tradition without questioning them,
S6. the changing world.

Options :

1. # SPRQ

2. % QRSP

3. ¥ QSPR

4. % PQRS

Question Number : 68 Question Id : 7532291078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives, which would be the most logical sequence of the sentence in the passage.

S1. Most of the people acquire

P. which makes them hesitant

Q. their ancestral culture and

R. to accept new ideas and theories of
S. tradition without questioning them,
S6. the changing world.

Options :
1. # SPRQ



2. % QRSP
3. ¢ QSPR
4. % PQRS

Question Number : 69 Question Id : 7532291079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Deceiving
Options :

1. ¥ Misleading
2. % Honest

3. % Composed
4. % Stolid

Question Number : 69 Question Id : 7532291079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Deceiving
Options :

1. ¥ Misleading
2. # Honest

3. # Composed
4. #® Stolid

Question Number : 70 Question Id : 7532291080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.



Rebuff

Options :

1. ¥ Approve

2. % Bruise

3. # High-spirited
4. % Sob

Question Number : 70 Question Id : 7532291080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Rebuff

Options :

1. ¥ Approve

2. # Bruise

3. # High-spirited
4. # Sob

Question Number : 71 Question Id : 7532291081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. % stamina

2. % phenomena

3. # tactic

4. ¥ advisary

Question Number : 71 Question Id : 7532291081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the INCORRECTLY spelt word.
Options :

1. % stamina

2. % phenomena

3. % tactic

4. ¥ advisary

Question Number : 72 Question Id : 7532291082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. # Arrangment

2. % Arrangement

3. % Arangement

4. % Arrangemant

Question Number : 72 Question Id : 7532291082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. # Arrangment

2. ¥ Arrangement

3. % Arangement

4. # Arrangemant

Question Number : 73 Question Id : 7532291083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.



A plum job.

Options :

1. # An expression of good-luck.

2. % A situation of having no job.

3. % A difficult job with many hardships.

4. ¥ An easy pleasant job that also pays well.

Question Number : 73 Question Id : 7532291083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

A plum job.

Options :

1. ® An expression of good-luck.

2. % A situation of having no job.

3. # A difficult job with many hardships.

4. ¥ An easy pleasant job that also pays well.

Question Number : 74 Question Id : 7532291084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

To walk the tight rope
Options :

1. ¥ Be very nervous
2. % Be very cautious
3. % Be well trained
4. ® Be an expert

Question Number : 74 Question Id : 7532291084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

To walk the tight rope
Options :

1. # Be very nervous
2. ¥ Be very cautious
3. % Be well trained

4. # Be an expert

Question Number : 75 Question Id : 7532291085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

Mental disturbance caused by an illness.
Options :

1. # Dilemma

2. ¥ Delirium

3. % Discrepancy

4. ¥ Diurnal

Question Number : 75 Question Id : 7532291085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

Mental disturbance caused by an illness.
Options :

1. # Dilemma

2. % Delirium

3. # Discrepancy

4. % Diurnal
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Sub-Section Id : 75322970
Question Shuffling Allowed : Yes

Question Id : 7532291086 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

The G-7 summit, at Carbis Bay, sent out two very strong messages. The first was driven by the United States’ new President Joseph Biden and
his vow that “America is back™ to take the lead on global challenges. The G-7 commitment to donate one billion coronavirus vaccines to poorer
countries and to invest $12 trillion in their combined pandemic recovery plan depends on the U.S. commitments for a large part. The special
communiqué on “Open Societies” for the G-7 outreach, and the invitation to “fellow democracies” India, Australia, South Korea and South
Africa are also an extension of his stated commitment to convening a Democracy Summit this year.

Even the slogan for the G-7, “Build Back Better”, was a White House term to declare America’s economy and jobs recovery plan. The second
message was the consensus amongst the seven-member countries on countering China. The final G-7 communiqué holds no less than four direct
references to China, each negative, including criticising Beijing for its rights record in Xinjiang and democratic freedoms in Hong Kong, its
“non-market policies and practices...”, concerns over its actions in the China Seas, and a demand for a transparent investigation into the origins of
the COVID-19 virus. Though the bonhomie among the G-7 leaders was palpable, the differences and contradictions in the grouping remain a
challenge.

Even two decades ago, questions were raised about whether the grouping (earlier, the G-8), could claim its mantle as the world’s “richest”
countries, when emerging economies, China and India, are not included. On economic issues, the EU is a more representative unit than the
individual European G-7 member countries. Finally, the premise of a group like the G-7, that of an exclusive club of the “haves” or “the best vs
the rest”, seems anachronistic in a world that is much more interlinked now than in 1975, when the grouping first came about. India, a special
guest to the G-7/G-8 since 2003, has also maintained its independent course.

Sub questions

Question Number : 76 Question Id : 7532291087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what was the second message of the G-7 summit?
Options :

1. # Combined pandemic recovery plan in the world.

2. % Economy and jobs recovery plan in countries.

3. % To handle economic issues globally.

4. ¥ The consensus amongst the seven-member countries on countering China.



Question Number : 77 Question Id : 7532291088 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘Bonhomie’ mean in the given passage?
Options :

1. ¥ Friendliness and happiness.

2. # The most contemptible kind of something.

3. % Shrewdness shown by keen insight.

4. # In an opposing direction.

Question Number : 78 Question Id : 7532291089 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term ‘Build Back Better’ represents-
Options :

1. # An exclusive group.

2. % America’s economy and jobs recovery plan.
3. % The current challenges at world level.

4. # Coronavirus vaccines to poorer countries.

Question Number : 79 Question Id : 7532291090 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, what was the slogan for the G-7?
Options :

1. # The haves and have-nots.

2. % The best vs the rest.

3. % Open Societies

4. ¥ Build Back Better

Question Number : 80 Question Id : 7532291091 Question Type
Orientation : Vertical

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Correct Marks : 1 Wrong Marks : 0.25

According to the passage, on economic issues, which one is a more representative unit than the individual European G-7 member countries?
Options :

1. # China

2. % The USA

3. #* India

4. ¥ The EU

Question Id : 7532291086 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

The G-7 summit, at Carbis Bay, sent out two very strong messages. The first was driven by the United States’ new President Joseph Biden and
his vow that “America is back” to take the lead on global challenges. The G-7 commitment to donate one billion coronavirus vaccines to poorer
countries and to invest $12 trillion in their combined pandemic recovery plan depends on the U.S. commitments for a large part. The special
communiqué on “Open Societies” for the G-7 outreach, and the invitation to “fellow democracies” India, Australia, South Korea and South
Africa are also an extension of his stated commitment to convening a Democracy Summit this year.

Even the slogan for the G-7, “Build Back Better”, was a White House term to declare America’s economy and jobs recovery plan. The second
message was the consensus amongst the seven-member countries on countering China. The final G-7 communiqué holds no less than four direct
references to China, each negative, including criticising Beijing for its rights record in Xinjiang and democratic freedoms in Hong Kong, its
“non-market policies and practices...”, concerns over its actions in the China Seas, and a demand for a transparent investigation into the origins of
the COVID-19 virus. Though the bonhomie among the G-7 leaders was palpable, the differences and contradictions in the grouping remain a
challenge.

Even two decades ago, questions were raised about whether the grouping (earlier, the G-8), could claim its mantle as the world’s “richest”
countries, when emerging economies, China and India, are not included. On economic issues, the EU is a more representative unit than the
individual European G-7 member countries. Finally, the premise of a group like the G-7, that of an exclusive club of the “haves” or “the best vs
the rest”, seems anachronistic in a world that is much more interlinked now than in 1975, when the grouping first came about. India, a special
guest to the G-7/G-8 since 2003, has also maintained its independent course.

Sub questions

Question Number : 76 Question Id : 7532291087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, what was the second message of the G-7 summit?
Options :



1. ¥ Combined pandemic recovery plan in the world.
2. # Economy and jobs recovery plan in countries.
3. # To handle economic issues globally.

4. ¥ The consensus amongst the seven-member countries on countering China.

Question Number : 77 Question Id : 7532291088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘Bonhomie’ mean in the given passage?
Options :

1. ¢ Friendliness and happiness.

2. # The most contemptible kind of something.

3. % Shrewdness shown by keen insight.

4. # In an opposing direction.

Question Number : 78 Question Id : 7532291089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term ‘Build Back Better’ represents-
Options :

1. # An exclusive group.

2. ¥ America’s economy and jobs recovery plan.
3. % The current challenges at world level.

4. ® Coronavirus vaccines to poorer countries.

Question Number : 79 Question Id : 7532291090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, what was the slogan for the G-7?
Options :

1. # The haves and have-nots.

2. % The best vs the rest.

3. # Open Societies



4. % Build Back Better

Question Number : 80 Question Id : 7532291091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, on economic issues, which one is a more representative unit than the individual European G-7 member countries?

Options :
1. % China
2. % The USA
3. % India
4. ¥ The EU
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Question Number : 81 Question Id : 7532291092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frefafd & 3 » Teruf 1 ) - frede - &
Options :

1. ¥ 8 + 3fd

2. % . + 3Yfd

3. % ggr] + Yfd

4. % | + P

Question Number : 81 Question Id : 7532291092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad o 9 » Tgrgufar &1 98! Si-faxde sH-arg?
Options :

1. ¥ 8 + 3

2. % . + 3Yfd

3. % g+ Yfd

4. % [ + S

Question Number : 82 Question Id : 7532291093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfoRad # ¥ ¢ Usg & 997 Difvle-
Options :

1. ® Uq9c




2. ¥ Hd

3. % gfgHH

4. % Theldldl

Question Number : 82 Question Id : 7532291093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfoiad # ¥ ¢ Usg & 997 Hifle-
Options :

1. ® Uq9c

2. ¥ Hd

3. % §fgaH

4. % Theldldl

Question Number : 83 Question Id : 7532291094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR & & -1 XTeg, Sgdife THN &1 Yol 3aTerU o7
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. gugy
2. HHATIA
3. Jromorfor

4. 3Tt

Question Number : 83 Question Id : 7532291094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frefefed o 9 oH-91 Weg Jgdife S0 &1 gl 3arerul 67
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. gugy

2. hHATYA

3. dromofor

4. 3MU&idl

Question Number : 84 Question Id : 7532291095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g "foRP R &1 e faRIvoy 0 Fefafed § 3 SH-a1 82
Options :

1. % forered

2. % faeredt

3. % fOREpRATel

4. ¢ fREpd

Question Number : 84 Question Id : 7532291095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTeg "faRIP R &1 gl [aRIvor &0 Fefafad o 9 $H-91 82
Options :

1. % fqern

2. % foreredt

3. % faREpRare

4. ¢ fa&pd




Question Number : 85 Question Id : 7532291096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfaRad o O »fARYe &1 waigard geg $1H-91 52
Options :

1. % e

2. ¥ §HR

3. % qhd

4. % R¥4g

Question Number : 85 Question Id : 7532291096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefafea o 9 Frde &1 yaigard weg HIF-91 82
Options :

1. % e

2. ¥ §BR

3. % ghd

4. % g

Question Number : 86 Question Id : 7532291097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ <reg & Y =0/ dd-il &1 99 Piford-
Options :

1. % gt

2. % gt

3. RIS

4. % RS

Question Number : 86 Question Id : 7532291097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f=foRed o ¥ wreg & g 0/ d-l &1 99 Piford-
Options :

1. % TR

2. % g

3. ¥ GRS

4. % Ry

Question Number : 87 Question Id : 7532291098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfafed & 9 S &1 fadv Tes H-a1 82
Options :

1. % faftR

2. % Udd

3. % JgTl

4.« U0

Question Number : 87 Question Id : 7532291098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad & | Sge &1 oo Tsg B1H-918?
Options :

1. ® fafiR

2. % Udd

3. % Il

4. U]

Question Number : 88 Question Id : 7532291099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

f3T 7T Treg-gm & Tt 3N BT T8 PifoT-

J&R - 3UR

Options :

1. % Hol- YR

2. % Doy - B

3. ¥ & I Gfad - Bl

4. % gpar gefl- T

Question Number : 88 Question Id : 7532291099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferw 7Y wreg-gm & wet 319 1 9T HIfC-

J&X - YR

Options :

1. % Hol- IYR

2. % Hoy - HAU

3. ¥ B Y gfad - Fol

4. % JHal gefl- AT

Question Number : 89 Question Id : 7532291100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTfeTRad & O rale HReb b Ggt faHTRT BT Tg- HifeTe-
Options :

1. % &1, B, B

2. ¥ B, 31, 381 T 3R

3. % Y, HGRI

4. %4 W



Question Number : 89 Question Id : 7532291100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferRad # A Ty SR B Fal [aHIRT D1 I8 BHifeTe-
Options :

1. % &I, P, B

2. ¥ §, 3(Gll, 361 T4 3R

3. % 9, B gRI

4. %4 W

Question Number : 90 Question Id : 7532291101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freferRad #  TifeT Wee 1 =g BifviL-
Options :

1. % SgIY]

2. % G

3. % UIfeepRr

4. % fagmdis

Question Number : 90 Question Id : 7532291101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfoRad | O Wi Wsg &1 994 BIfoTL-
Options :

1. % ISUHHT

2. % gHE™

3. % QIR

4. % fagmdis



Question Number : 91 Question Id : 7532291102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T T fAzeare ard &1 URAdE® aid § GRadH $HR Hel URAdEd dId] BT 9g- Hifort-

e foret 7 fef aRe @ vl 81 |
Options :

1. % HIgd Y I3l ol Al 62

2. % g fopdit 9 Tt TRE T S gl T
3. % Tg 0 Y Il g1 I

4. ¥ Mg HY Iiol g T

Question Number : 91 Question Id : 7532291102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fRTegars are &t Uxarae 919 H URdadd #R et Uarad aiad &1 Ig- B Ifort-
e forddt 7 frdt e 3 Il 8 )

Options :

1. % HIE HY I3 81 Tobdl 82

2. % Hig foreht 7 foelt aRe ¥ Sgwiiof g1 |
3. % Hg W Y Il g1 T

4. ¢ AT HY Iiol g T

Question Number : 92 Question Id : 7532291103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAmferRad & ¥ < aci-1 aTel 91 &1 98 BITog-

Options :

1. % 309 H Fdh: TRER Ggani arl |

2. % Mgt +ff fra) v gAR TR 3|

3. ¢ BUR gt 979G &1 & Bt 3ea! aaRT g |




4. % 3T B3 3 AR TRTR fHu mu)

Question Number : 92 Question Id : 7532291103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fRed o ¥ [ T Tt a1 T8 BHiforg-
Options :

1. % 3M9Y T fHedH IRER TgaN Rl |

2. % g it off forht Ty g0 R 3y |

3. ¢ TUR g 79gdd! &1 & Bt 3ea] TR 5|
4. % 39 H3 3H® AR TRTR fpu mu)

Question Number : 93 Question Id : 7532291104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=frRad & T gerarT "Siid gl ferder &1 a1 a1 g2
Options :

1. ® fod UpR &I SHRT I difsd g1

2. ¢ R RE S ySI|

3. % faRd B

4. % SH-gHR =1 Jg1|

Question Number : 93 Question Id : 7532291104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRad o & gerarT "oiie gl ferdeT &1 o 3 g2
Options :

1. % foodil YR Pt SHHRT Y Tifed g

2. ¢ {1 dvE Ul gl

3. % faRd g

4. ® SH-dghR A1 gl




Question Number : 94 Question Id : 7532291105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrefoea ® 9 g dieifad &1 o ot +ft Sura ¥ W 81 sear &2
Options :

1. ¢ 7T 99 ¥ 81 g g1 oIl

2. % TR DI CUHR WREST I Feadl g

3. % P & <18 DI Al oial |

4. % HER] TP TM1d MR |

Question Number : 94 Question Id : 7532291105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfafea & 9 food Aeifad o1 o et off Sur & TuTa 751 Jeadr &2
Options :

1. ¢ T 417 OV IS ST 781 8l e

2. % TR DI CUDHR WRYST T Feadl ¢

3. % B & U8 B! I SiRkGT|

4. % HW TIRH] 7 MER|

Question Number : 95 Question Id : 7532291106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfaRed # 4 ford oo 7 IR g &1 v fovar 1T &2

Options :

1. % 33T, ) I S |

2. ¢ "YHA AT TaT Feht TS | UTOT ST TR a1 - oI ||

3. % STHIA H BT - BT G ST TC; faoTel IHG all; dTd TR @il 3R aui Bt §¢ €4 - 2 eRedl R fRA @ |
4. % HHIY-HH, GI-Y-ST1aT|




Question Number : 95 Question Id : 7532291106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faRad & O foog area & I<Ru1 g &1 uai fear man g?

Options :

1. % 331, dql I 9|

2. ¥ "G Afd JaT Il 3TE | WT07 S TR G 7 Sfrg 11"

3. % SIHI T B - I G ST TC; fooTel aHSb ll; FTad TRo Tl 3R aN Bi g ¢4 - U eRal IR TRA @ |
4. ® HUY-HH, IG]-9-ST1a|

Sub-Section Number : 2
Sub-Section Id : 75322972
Question Shuffling Allowed : Yes

Question Id : 7532291107 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TR TTRIT=T ST AT gd® 378qa R U=AT & SR GIToTe-

ATHT: 8l b1 dg=1 H I1 <) 49 IgdT § I1 W, TR STet 89 81 811 & U &1 811 & BRI &1 da-l B TId § dgf gHRI d&-1 & gd
o 17 5T Sfe SUD! RITS G2 B ARG § | 5T d&1 H Gl DI YS! SHR YA B! A1 g TorH e FT1sf ¥ S 99 b | 3R ¥
S T LT TRATH ST B AT J TS S ocll & | 919 W ST &b TART HTa! auT SIHA! B BIedR dad & Uie [fed Hra1 &t
=P 3T &, A T8 313 Y YehTd 3MTeier BT ISTEUT & STl & | Fll, Saaraf quT 7w 1 e uaie e} s gl & +i der
STl 1 S99 gBT b Heed b1 | Y Bl 8 3R 98 36 3R W SUSTR &1 &l 8|

Sub questions

Question Number : 96 Question Id : 7532291108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUdad TR & o =1 1 O Haiftes 3fed N &1 9a+ Hifor-
Options :

1. ¢ T gaiier st &1 A P

2. % JAHIGR St &7 Sita uR=d|

3. % TG Sif i T



4. ® 41 T Hgd |

Question Number : 97 Question Id : 7532291109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, G dal & U aGd BT T 3= 87
Options :

1. % g&el ot Wt da1 o7 SHT=ifarg &1l

2. % g&el & Wt RER g fGar|

3. % g &I A1y UgarI|

4. G DI YU GHR JaAT |

Question Number : 98 Question Id : 7532291110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ YR 39 &1 R Yia | g?
Options :

1. % g™

2. %

3. ¢ fd

4. % dicqeyg

Question Number : 99 Question Id : 7532291111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & SR, HH-HT1 HU- JuidT: T81 82

Options :

1. % Tl Tqaral quT I B da-1 yafe §, 39fory giel ot i e e ) STl 8 1 39 g1 % Hed Bl HiRdie IfY gt § 3R 98 3%
3R +ff SuBT T A B

2.« cll, T3 T IH B deT Uaied el 3TIg gl b ot deT Y STl ¥ 1 39 gFT & Hew B il Y Bl § 3R 98 3 8k
i SUETg o1 At B

3. % i, Sadrail TUT IH P I i Tl § 3o gl Bt o der el B St 8 1 399 g5 & e &l U1l Y gl € 3R 98 S



3R it Sug FT I B

4. % I, TaA1ef quT I B I YAt el ST gl ot o da1 ol ot /1 39 g & Hed @ Wi 2P 81 § iR 98 3% ok oft
WA &1 3t B

Question Number : 100 Question Id : 7532291112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S T & PRI & R s o1 i e R T
Options :

1. A

2. % 3MTda

3. % Y[g-r

4. % e

Question Id : 7532291107 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

fefeRad T &1 seaYde S1enae R U & IR aiford-

ITHId: g8 &1 deA1 H 1 dl YT I8l § 1 Y, TR oTg! 84 B 811 & Ued 1 8111 & HRUI &1 d&1 R I § a8i gAR! d&-1 & Jd
o 17 T8 Sfcr SUD! RIS SR B ATRABI €| 5T d&1 1 G5l Bl YUD! SHR YA Bt 1 § fored et rensf & SH 99 o | 3=
SF T THdT TRATH S B ST I TS S Gl ¢ | ofF T 32 & JaRT HTa! AT SIHA Bl BISHR dadl & U FHigd UG Bt
=D A T\ §, 1 T8 3MyT q hiid SATeia B IaTeR01 9 SIIdT & | Tdl, Saarsil auT IH &I da-1 Uaid g! 39ferg giel &t Ht da-1 3t
STl & 1 399 3B & Hed Bl MRS JfP il & 3R 98 So IR H SUSTI &1 &l 5|

Sub questions

Question Number : 96 Question Id : 7532291108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TR & fore =1 O ¥ Faiftes Ifd 2hve &1 9g- Pifon-
Options :

1. ¢ TIATH! GRSt T - 28I |

2. % JAYIEH St &1 Sitad U= |



3. % OGN Sl B Tl
4. % 9T DI HEd |

Question Number : 97 Question Id : 7532291109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IT TN & SR, G daT & Ul ORach b1 3T SE2T 82
Options :

1. % geel ot Wt da1 o7 SHRifaTg &l

2. % g B H IRER T feam |

3. % Gl Dl A1Y UgdrH|

4. ¥ G DI YUSDT bR FeIHT|

Question Number : 98 Question Id : 7532291110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fr=fRed & 9 4R 39 &1 RIRd 1Ta &1 52
Options :

1. ® g1

2. % W

3. 3d

4. % iy

Question Number : 99 Question Id : 7532291111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & IR, HIF-91 HY Ui TET 82

Options :

1. % ol STl TUTIH B da-1 T &, SHITY gie! &I 1} da1 751 D1 ifchl 5 | 3T GBI & Hed ! HIRD YiP Bichl § 3R I8 3
3R f SUT 1 et 3

2. ¢ i, TSN AT T DI G&-1 AT o] ST g&el 1+ de-1 Bt A1ct & | I GBI & Agd B! HIRD JiP gl § 3R I8 S8 IR
1 I 1 et B




3. % i, TqATSN TUT M BT de-1 Yafed e} § ST g b1 it de1 Te) Bt STt §1 ST ¥ & Hewd ! HITeb giY Biell § 3Tk a8 3=
3R 1ft IuETR FT T B

4. % I, TaAT3T qUT I B IS YT el ST gl bl +ft a1 I Ot §1 39K gFI & HEd B U =Y g1 § 3R 98 3% SR +ft
GRATD &1 3 B

Question Number : 100 Question Id : 7532291112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TerRr B e # @ o g o1 v e fra man g9

Options :

1. ¥ 315

2. % 3fTeie

3. % YHIgdl

4. % e
Disciplinel

Group Number : 6

Group Id : 75322961

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 75322961

Section Number : 1

Section type : Online
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532291113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct?

1. A 40W-220 V bulb has a higher resistance than a 1 kW-220 V electric heater.
2. The maximum current that a I00W-220 V lamp can withstand is 0.45 A.
Choose the correct code:

Options :

1. * Only 1

2. % Only 2

3. % Both 1 and 2
4. * Neither 1 nor 2

Question Number : 101 Question Id : 7532291113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed sy 8§ @ o T8t 82

1. TP 40W-220 V I8 BT URIY 1 kW-220 V SAfacd alex ¥ IS g1 8|
2.TH 100 W-220 V & o0 H fYHaH YRT BT HM 0.45 A B

g D18 I |

Options :

1. % $ad |

2. % PHad 2

3. Gl 1 3R 2



4. % A1 ARG 2

Question Number : 102 Question Id : 7532291114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # The resistance of the wire is directly proportional to the length of the wire.

2. ¥ The resistance of the wire is directly proportional to the cross-sectional area of the wire.
3. # The resistance of a wire can never be negative.

4. ® The resistance of wire is a constant for a given wire.

Question Number : 102 Question Id : 7532291114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad & § o 91 HyF Tad 82

Options :

1. % IR &1 UfeRTY, IR P dals & We AU ¢ |

2. ¢ AR BT URRIY, AR & 3 BT & &FTHA & JHIUI sIdl g |
3. % b3l dR &1 UfaRiy S Ut Bundes 81 81 JobdT|

4. % R &1 UfeRIY fHdt fRu MU ar & forw fRR B

Question Number : 103 Question Id : 7532291115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # The current produced by a battery is DC (Direct Current).

2. # The current that flows out from the switch points at homes is AC (Alternating Current).
3. ¥ Devices like electric motor that work on DC are stronger than those that use AC.

4. % People who accidentally come in contact with AC are flung afar.



Question Number : 103 Question Id : 7532291115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 @ o 1 Sy 7Tad 82

Options :

1. % 9§ frem arelt ¥R ey eI B

2. % R ¥ g Uige T 981 aTell YT yadf o1 gt g1

3. ¢ foF YRT I 9 a1d faggaHTex S w1, TTad 4T aTel Iwdl &1 ga-T § Holgd 3R JaUToHe gid §
4. % S AN ITE § YTl 9RT % YU H 31971 § o fved R R AR WA £

Question Number : 104 Question Id : 7532291116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Michael Faraday make the discovery of Electromagnetic Induction?
Options :

1. #1789

2. ¥ 1831

3. % 1896

4. % 1908

Question Number : 104 Question Id : 7532291116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AISHd BTS A BN oY & faggd TaH g IRl &) TS D12
Options :
1. % 1789
2. ¥ 1831
3. % 1896
4. % 1908



Question Number : 105 Question Id : 7532291117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uihiadh &0 YUY ST aTel R S Uga dig 3R Fdd &1 3 uerdf &1 de 3 iid &3 § Ted e offd 3, Haard 3 -
Options :

1. % T9CH

2. ¢ digKH

3. % TURTH

4. % e

Question Number : 105 Question Id : 7532291117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Naturally occurring stones which were earlier found to be able to attract iron and nickel like other substances were called -
Options :

1. # Magnetrons

2. % Lodestones

3. % Magnastones

4. % Loderons

Question Number : 106 Question Id : 7532291118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While generating ocean thermal energy, which of the following types of liquids is boiled by the warm ocean water?
Options :

1. ¥ Volatile liquid

2. # Non-volatile liquid

3. #® Acidic liquid

4. ¥ Basic liquid

Question Number : 106 Question Id : 7532291118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HENIFRIG A0 3ol 3 Hd 994, 8 T ¥ {69 TR & avd &1 TH 995 o UMl ¥ I97a SIrdl 62
Options :

1. ¢ ARl R

2. % IR R

3. % 3RINY T

4. % GRIGRA

Question Number : 107 Question Id : 7532291119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an advantage of nuclear energy?

1. No waste gases are produces when electricity is produced out of nuclear sources.
2. There is no scope of leakage of harmful radiations.

Choose the correct code:

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 107 Question Id : 7532291119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o & &9 91 URAT] Sl &I a1 -T81 62

1. 516 URHATY] Fidl § foTelt &1 IcTe- foar SIrdr 8 o 1g Sufiy 19 S =gl gl & |
2. BI®R fafehul & Rara & Big Tos e 81 B

Tl ple |

Options :

1. % dd |

2. ¥ $Had 2

3. % Gl 1 3R 2



4. % A1 ARG 2

Question Number : 108 Question Id : 7532291120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding generation of wind power?

Options :

1. ¢ The turbine converts mechanical energy into electrical energy.

2. ® The blades of the windmill are angled into the wind.

3. # In older windmills, wind energy was used to run machinery to do physical work, like crushing grain or pumping water.

4. ® The wind speed is vital in the production of electricity.

Question Number : 108 Question Id : 7532291120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g il Sadted & ey § Fofafad & @ o9 91 sy 98t 781 22

Options :

1. ¥ AT TifAe Sl &I fagga St & uRafdd Har gl

2. % U9 990! & KIS g H BB 7

3. % QR UG 9fadmdl §, Ta Sl 1 SUaNT JRfA! ! aa= o o foar Sirar o1, S 3F1ST &1 fraa a1 Uit UY 64 & e |
4. % fooTel & IaTe B §a1 B I He@yui 7

Question Number : 109 Question Id : 7532291121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How can biomass be used as a source of energy?

1. by burning dry biomass

2. by decomposition of biomass in the absence of oxygen
Choose the correct code:

Options :
1. ¥ Only 1
2. % Only 2



3.4 Both 1 and 2
4. % Neither 1 nor 2

Question Number : 109 Question Id : 7532291121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SaYR B il &b Fld P =Y | HI ITANT {51 o Tl 82
1. Y[ SIaHR & 1Y G871 9

2. JHTRfIo @t Ul T SaHUR & 3Tge gRI

T D18 I |

Options :

1. % $ad |

2. % Hdd 2

3. ¥ G 1 3R 2

4.% A1 ARG 2

Question Number : 110 Question Id : 7532291122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 900 gm solid cube having an edge of length 10cm floats in water. How much volume of the cube is outside the water? Density of the water
1000 kgm™.

Options :

1. ¢ 100 cm?

2. % 150 cm?

3. % 110 cm?

4. % 200 cm?

Question Number : 110 Question Id : 7532291122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 900 UTH 319 g9 Fg! s 10 4t 8, Uit H R 8 1 991 BT S1a Ut & «1eR fbam 82 Tl &1 997 8 1000 kgm™ |



Options :

1. ¥ 100 cm?
2. % 150 cm?
3. % 110 cm?
4. % 200 cm?

Question Number : 111 Question Id : 7532291123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the work done by the force of gravity during the time a particle of mass 60 gm goes up on being thrown vertically upwards with a speed of
10m/s.

Options :
1.9 -30])
2.% 4401
3. % 351
4. % -25]

Question Number : 111 Question Id : 7532291123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 AT & GRM TSATH YU §d gRT fHT TT B BT U MY, Tq 60 T GHHM HI TH HUT 10 Hex / Yobs DI 1A F daad SHW i
3R TrepT ST g |

Options :

1.¥ 301

2. % 407

3.% 35]

4.% 257

Question Number : 112 Question Id : 7532291124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An elevator weighing 500kg is to be lifted up at a constant velocity of 0.25 m/s. What would be the minimum horsepower of the motor to be



used? G = 9.8 m/s? and there is no frictional loss.
Options :

1. % 1.0hp

2. % 1.64 hp

3. % 1.92hp

4. % 2.0hp

Question Number : 112 Question Id : 7532291124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500 fHIT HR 910 T foTde 1 0.25 m/s & a0 37T Q SR IS 8 | SUTN HI S aTeit HIex 1 gAdH BITeR fva-t 812 G = 9.8 mys?
3R BIs Tv0T 51 T81 &

Options :

1. % 1.0hp

2.v 1.64 hp

3. % 1.92 hp

4. % 20hp

Question Number : 113 Question Id : 7532291125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true about a solid floating with a part of it in the fluid?
1. The overall density of the solid is greater than the density of the fluid.

2. The weight of the displaced fluid equals the weight of the solid.

Choose the correct code:

Options :

1. % Only 1

2. % Only 2

3. # Both 1 and 2
4. #® Neither 1 nor 2

Question Number : 113 Question Id : 7532291125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFofRRed 7 9 HH-91 T 319 & IR H I & e T HRT aRel # ok 8182
1. 31 BT AT 99 TR b I9d T b g g
2. faRd RA FTUR 3G F R & RSR gidT 8|

el pls |
Options :

1. % &Had 1

2.« HAd 2

3. % 1 3R 2aMN

4. % A1 3RAE 2

Question Number : 114 Question Id : 7532291126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The amount of light entering the eye may be controlled by varying the aperture of the pupil with the help of
Options :

1. ¥ Cornea

2. ¥ Iris

3. # Retina

4. ¥ Aqueous humour

Question Number : 114 Question Id : 7532291126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{f@ &1 gaelt gRadl gR® &1 Hifd B Bt & e A8 oI &1 YeTad ¥ gaal o Ghdl g |
Options :

1. % i1

2. ¢ GRATREDT

3. % gfpuca

4, % g




Question Number : 115 Question Id : 7532291127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of an eye contains about 1 million optic nerve fibres ( which transmit information to the brain).
Options :
1. ¥ Retina
2. # Lens
3. % Cornea
4. % Pupil

Question Number : 115 Question Id : 7532291127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3@ &b # A 1 fhifere g dfEeht dq Bl § (Sl AT 1 a1 U= Rd 8) |
Options :

1. ¢ EPucd

2. % g

3. % pIAT

4. % goail

Question Number : 116 Question Id : 7532291128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are true?

1. The power of a converging lens is positive.
2. The power of a diverging lens is negative.
Choose the correct code:

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2



4. % Neither 1 nor 2

Question Number : 116 Question Id : 7532291128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9 &F /8 99 8/5?

1. T A B iR 4T B B
2. SUHRY T P &HAT BUTHS giil o
T D18 I |

Options :

1. % &had |

2. % Had 2

3.¢ 1 3R 2 Ml

4.% A1 ARG 2

Question Number : 117 Question Id : 7532291129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The appearance of sound to a human ear is objectively characterised by which of the following parameters?
1. Frequency

2. Intensity

3. Waveform

Choose the correct code:

Options :

1.¥ 1,2and 3

2. % Only 1 and 2
3. % Only 2 and 3
4. % Only 1 and 3

Question Number : 117 Question Id : 7532291129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qd & | @ &1 Ul gy wu ¥ Fufafea & 9 forg Refier gr1 srya fosar wman g2



1. 3Mqgf
2.Eﬂ_?:|?n

3.
Tl pls A |
Options :

1. 1,233
2. % Had 1 3R 2
3. % PHad 2 3R 3
4. % Had 1 3R 3

Question Number : 118 Question Id : 7532291130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is/are true?

1. The disturbance produced by source of sound is always a sine wave.

2. The disturbance produced by source of sound is never a sine wave.

3. The disturbance produced by source of sound is not always a sine wave.
4. A pure sine wave has a unique frequency.

Choose the correct code:

Options :

1. % Only 1 and 4
2. % Only 2 and 4
3. % Only 3 and 4
4. % Only 4

Question Number : 118 Question Id : 7532291130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafeiRad 7 9 o I3 $uU=T 94 8/82

1. @ & Fd gRT I f9eNy geg T ST aT gl

2. 9 & Fid A IO fAeiy H oft s T T8 g g

3. g & I gRT I A&y SHR U &1 a7 T8l g 2|




4. G o1 AT B U Mg gl gieh ol
Tl ple |

Options :

1. % Had 1 3R 4

2. % Had2 3R 4

3. Had 3 3R 4

4. % Had 4

Question Number : 119 Question Id : 7532291131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an alpha particle the protons will repel each other due to force.
Options :

1. ¥ Coulomb

2. % Gravitational

3. # Electromagnetic

4. % Nuclear

Question Number : 119 Question Id : 7532291131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH HDHIHUANCH IS QIR DI T & HRUT Wb ¥d Bl |
Options :

1. ¥ odd

2. ® TAIHYU

3. % faggadea® iy

4. % UIHI

Question Number : 120 Question Id : 7532291132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The density of water at 4°C (277 K) is:
Options :
L& 1.0x10° kg m-3

, w 2.7x10°kg m
5 » 0.808 x 10° kg m*

4 % 1.43 x 10° kg m?

Question Number : 120 Question Id : 7532291132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
4°C (277 K) 7% IT=T %7 = 2
Options :

L& 1.0x10° kg m=

, w 2.7x10°kg m?

; % 0.808 x 107 kg m*

4 % 1.43 x 10° kg mr?
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Question Number : 121 Question Id : 7532291133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frequencies higher than are called ultrasonic sound or ultrasound.
Options :

1. * 20 Hz

2. % 30 Hz

3.4 20 kHz

4. % 10 kHz



Question Number : 121 Question Id : 7532291133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 31fAe Mgfral &1 g @ a1 NS S &8l Sal g |
Options :
1. % 20 Hz
2. % 30 Hz
3. ¥ 20 kHz
4. % 10 kHz

Question Number : 122 Question Id : 7532291134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the maximum acceleration of the bus in which a box lying on its floor will remain stationary, given that the co-efficient
of static friction between the box and the bus’s floor is 0.14 and g = 10 ms™2?

Options :

1. % 2.8 ms™

2. % 42 ms

3. % 14 ms~?

4. ¥ 1.4ms?

Question Number : 122 Question Id : 7532291134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRfIRed § I &1 91 U 99 $T fdad @R § Rl 39 BRI IR UST Uh Siay (R g7, I8 old gu o dia 3fR a9 & B &
ot Qe oo &1 01w 0.14 § R g = 10 ms2 82

Options :

1. % 2.8 ms?

2. % 42 ms?

3. % 14 ms



4. ¥ 1.4ms?

Question Number : 123 Question Id : 7532291135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A batsman hits back a ball straight in the direction of the bowler without changing its initial speed of 10 ms™!. If the mass of the ball is 0.12 kg,
determine the impulse imparted to the ball. (Assume linear motion of the ball).

Options :

1. % 3.6Ns
2.%24Ns
3.% 114 Ns
4. % 94 Ns

Question Number : 123 Question Id : 7532291135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Seciamel 116 B JHD! 10 ms™! B YRS 1A 1 F&al o1 R Tgars 1 fa=n & aruw fge drar g1 afe e &1 geamm o.12 T g,
g UR TN AT T J1d Bifo | (e B ¥R T1fd A o) |

Options :

1. % 3.6 Ns

2.¥24Ns

3. % 114N

4. % 94 Ns

Question Number : 124 Question Id : 7532291136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following units of pressure has the correct value?
Options :

| % 1atm=2.01 x 10°Pa



) 1 bar=10°Pa
3 % 1torr=0.133 Pa

4 % 1mmofHg=133torr

Question Number : 124 Question Id : 7532291136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ae ot Fafaled & 9 fag sH1E &1 a9 98l 82
Options :
| = 1atm=2.01 x 10°Pa

) 1 bar=10°Pa
3 % 1torr=0.133 Pa

, w 1T Hg =133 torr

Question Number : 125 Question Id : 7532291137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The field lines inside the solenoid are in the form of
Options :

1. ¥ Parallel straight lines.

2. % Straight lines that intersect each other multiple times.

3. % Parallel curved lines.



4. ® Intersecting curved lines.

Question Number : 125 Question Id : 7532291137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URATAST & SR P &A@E_ S FYH NG|
Options :

1. ¢ GO et @

2. % ieft TWI SN U g Pl B IR Pl §

3. % GAMIR GHEAGR AT

4. % GUGER WY o Uh g8 B s IR PIedl §

Question Number : 126 Question Id : 7532291138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true?

Options :

1. ® A piece of wire made of lead and tin alloy is used in making fuse.

2. ¥ The fuse wire is connected to the main source in parallel.

3. ® The fuse wire has its melting point lower than that of electrical wire.

4. ® The fuse wire has high resistance than that of electrical wire.

Question Number : 126 Question Id : 7532291138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad Hul & I S F91 9 81 82

Options :

1. % TS a9 | AN SfR e gt o1 ¥ 89 AR & gavs BT ST (T Sl ¢ |
2. ¢ TS dR QAR & 37 Ued § JSI el g

3. % TS dR &1 A faggd dR & TTa-ie 3 HH gidl ¢ |

4. % RS R ¥ faggd aR &t ga-1 § 3= ufeRiY 8T g |




Question Number : 127 Question Id : 7532291139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is true regarding the phenomenon known as mirage?

Options :

1. ® The refractive index of air decreases with its density.

2. # If the air is still, the optical density at different layers of air decreases with height.

3. # Light from a tall object such as a tree, passes through a medium whose refractive index increases towards the ground.

4. ¥ The image formed is always inverted.

Question Number : 127 Question Id : 7532291139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIRIeT A e & Hay H Fufifed # 3 o 91 Hyd 9d 82

Options :

1. % a1 &1 Ui T & 1Y edl Sdl g |

2. % e g1 RR B, O g1 ot faftre uRal Ry 9@ a8 & T1Y 9l g

3. % TS del I ol US § BT, Udh AT I Bl ToRdl § oIeh! 3uac-ids S &1 3R ¢ Sl g |
4. ¥ §99 91T ufafers Uda ST gl |

Question Number : 128 Question Id : 7532291140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two different atoms or groups of atoms (ions) are exchanged in reactions.
Options :

1. # Corrosion

2. #® Rancidity

3. ¥ Double displacement

4. ® Single displacement

Question Number : 128 Question Id : 7532291140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2 SETT-37eRT AT AT URHATYST & FHET (3T BT HEH-USH siffeaan & grar 3
Options :

1. ® ST

2. % gRAT g

3. ¢ fgforima

4. % Thd forym

Question Number : 129 Question Id : 7532291141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An isotope of is used as a fuel in nuclear reactors.
Options :

1. % Uranium

2. % Hydrogen

3. % Todine

4. % Cobalt

Question Number : 129 Question Id : 7532291141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P UG GG B ITANT GRATY] RugeR # 3¢9 & 72U ¥ fohar S g |
Options :

1. ¢ R

2. % BIIgIoH

3. % 3TArSH

4. % DISIC

Question Number : 130 Question Id : 7532291142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

‘Heating a china dish containing copper powder makes the copper powder become coated with a black substance.” Which of the following
equations is a correct translation of the statement?

Options :
|« 2Cu+ 02— 2Cu0

0 # CuQ +Hz — Cu + H0

; » Fe+ CuS0s—FeS0.+ Cu

4 % 2CU+ 0, —-2CU0 + Os

Question Number : 130 Question Id : 7532291142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“dd & TS SR Y Jad T T Fci1 Bl 7TH B 3 did DI UT3SR U Ial Uard & 1Y Afid g1 offd ¢ ' FafaRad # 9§ o a1 iR
HY BT g 3FIAIG 87
Options :

| ¢ 2Cu+ 02 —»2Cu0

7 ® CuO +Hz— Cu + H0
; » Fe+ CuS0s—FeS0.:+ Cu

4 % 2Cu+0;-2CUuO + Os

Question Number : 131 Question Id : 7532291143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Nonmetallic oxides are in nature.
Options :

1. # Mildly Basic

2. % Acidic

3. #* Neutral

4. % Extremely basic

Question Number : 131 Question Id : 7532291143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YA s Upfad BBl
Options :

1. % Goobl &R

2. ¢ 3R

3. % dcy

4. % 3 &R

Question Number : 132 Question Id : 7532291144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true?

1. Hydrogen ions in HCI are produced in the presence of water.
2. Hydrogen ions can exist alone.

Choose the correct code:

Options :

1. % Only 1

2. % Only 2

3. % Neither 1 nor 2
4. ¥ Both

Question Number : 132 Question Id : 7532291144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Faffed A B T g 82

1. HC1 ¥ BT SIoM 31 9d &1 SUfdfd § §d g |
2. RIS 3T 37l I8 THhd & |

el pls |

Options :

1. ¢ &ad 1

2. % PHad 2

3. % 9q 1 3RAG2

4. % gl

Question Number : 133 Question Id : 7532291145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where can we find Methanoic Acid in nature?
Options :

1. ¥ Vinegar

2. # Sour Milk

3. ¥ Ant sting

4. % Tamarind

Question Number : 133 Question Id : 7532291145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uid B A1 3 gl grdl Sl 82
Options :

1. % RRepT

2. % HsTq¥

3. Al BIED

4. % A




Question Number : 134 Question Id
Orientation : Vertical

: 7532291146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is a poor conductor of heat?

Options :

1. # Copper
2. # Silver
3. ¥ Mercury

4, % Aluminium

Question Number : 134 Question Id
Orientation : Vertical

: 7532291146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

FAfRd & § ®F St &1 Harad g2

Options :
1. % qiar
2. % gidl
3. ORI

4. % THHTY

Question Number : 135 Question Id
Orientation : Vertical

: 7532291147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a non-metal that can exist in different forms?

Options :

1. # Jodine
2. % Carbon
3. # Lithium
4. #* Gallium

Question Number : 135 Question Id

: 7532291147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafoiaa # o193yt g S fafts Ut & Aisig 8 Iovar 82
Options :

1. % 3fArSH

2. ¢ HIeT

3. % forfgy

4. % fergy

Question Number : 136 Question Id : 7532291148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct?
1.Most non-metals produce basic oxides.
2. Most metals produce acidic oxides.
Choose the correct code:

Options :

1. % Only 1

2. % Only 2

3. % Neither 1 nor 2
4. ¥ Both

Question Number : 136 Question Id : 7532291148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 5 3 B 91 T8 82

1. SITAHTRT STUTY &R 1T SIS I B! & |
2. AP YT AT RIS ST Bl g |
Tl ple |

Options :

1. % ohad |

2. % $had 2




3. 9d 1 8IRAB 2
4. % gl

Question Number : 137 Question Id : 7532291149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct option.
Options :

|« CH3iCOOH has the boiling point of 391 K
, % CHCIs has the melting point of 290 K
;3 % CH3CH20H has the boiling point of 391 K

4 » CHahas the melting point of 290 K

Question Number : 137 Question Id : 7532291149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el fadhed g |

Options :
| CHsCOOH HT FaA% & 391 K

, s CHClL #T e & 290 K

5 % CHsCHOH#T F49i% g 391 K



4 % CHa®T Tei® § 290K

Question Number : 138 Question Id : 7532291150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In order to attain an octet, each nitrogen atom in a molecule of nitrogen contributes (I) electrons giving rise to (ii) shared pairs
of electrons.

Options :

1. # (i) four, (ii) four
2. % (i) five, (ii) four
3. % (i) three, (ii) three
4. # (i) four, (ii) three

Question Number : 138 Question Id : 7532291150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3V UTT A P 17T AZCIoH &b Teh U] H 1S c o bl Uedeh URHTY (i) golde &l 8, FR gade ™ & (i) FeHTh g
T g g |

Options :

1. ® () dR, (i) IR

2. % () O, (i) IR

3. ¢ (i) dH, (i) dF

4. % () dAR, (i) dH

Question Number : 139 Question Id : 7532291151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is false regarding the formation of bonds between oxygen atoms?

1. We see the formation of a double bond between two oxygen atoms

2. This is because an atom of oxygen has four electrons in its L shell (the atomic number of oxygen is eight) and it requires four more electrons to
complete its octet.



Options :

1. * Only 1

2. % Only 2

3. % Neither 1 nor 2
4. % Both

Question Number : 139 Question Id : 7532291151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TRATU[ST & st el & T & ey & Fafeied & 9 oF 91 3 3Rd g2

1. §H QY 3o TRATU[ST & st feey o1 fFmfor dea §

2. U1 3 € Fifoh SfiaiTor & Udh TRHTY & L HIR H IR G Bl & (TR &1 URHTY] SBT3 BT §) 3R 3 30T 35
T A & fOIE IR 3R Faae -1 ! AHaAHd gl |

Options :

1. % &ad 1

2. ¥ $Had 2

3. % 9a 1 RAR2

4, % GHI

Question Number : 140 Question Id : 7532291152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the 118 elements known to us how many are naturally occurring?
Options :

1. %® 90

2.9 94

3. % 49

4. % 22

Question Number : 140 Question Id : 7532291152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. * 90
2.9 94
3. % 49
4. % 22
Discipline3
Group Number : 8
Group Id : 75322963
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
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Group Marks : 20
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes



Question Number : 141 Question Id : 7532291153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is incorrect?

1.The main credit for classifying elements goes to Johann Wolfgang Ddbereiner.

2. The early development of a Periodic Table of elements was created through the arrangement of elements on the basis of their fundamental
property, the atomic mass, and also on the similarity of chemical properties.

Choose the correct code:

Options :

1. % Only 1

2. % Only 2

3. # Neither 1 nor 2
4. % Both 1 and 2

Question Number : 141 Question Id : 7532291153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea & I oF Tad g2

1. Al o GFIThRUT BT BT 4T SNEH dIethi 1T SISRR B! oIl ¢ |
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Options :

1. ¥ 5dd |

2. % dhad 2

3.% 911 3RAE2

4. % GHI 1 3R 2

Question Number : 142 Question Id : 7532291154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Just like halogens, also exists as diatomic molecules and it combines with metals and non-metals to form covalent compounds.



Options :

1. % Oxygen
2. # Nitrogen
3. # Carbon
4. ¥ Hydrogen

Question Number : 142 Question Id : 7532291154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HUSRE ARG 1t fEURmATE S1uef & U H Ai[g § 3R I8 U1gai $iR srergsfi & A1y firae: Jegdieie difftes s=rar g

Options :

1. % 3fRiSH
2. % 1EgIoH
3. % B

4. ¢ GIZSISH

Question Number : 143 Question Id : 7532291155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The molecules of soap are sodium or potassium salts of long-chain acids.
Options :

1. % Hydrochloric

2. # Boric

3. ¥ Carboxylic

4. % Sulphuric

Question Number : 143 Question Id : 7532291155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T o 310] dell- @ aral Ris & Mfsay a1 ueREw 99ur gid 3|

Options :




1. % gIESIHING
2. % qik®

3.  PIAIGOITD
4. % GRIR®

Question Number : 144 Question Id : 7532291156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@D property of soap interacts with water and (II) property interacts with hydrocarbons.
Options :

1. ¢ (1) hydrophilic, (II) hydrophobic

2. % (I) hydrophobic, (II) hydrophilic

3. % (I) hydrophobic (II) hydrocarbolic

4. % (I) hydrocarbolic (II) hydrophilic

Question Number : 144 Question Id : 7532291156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EAH(@D) OIS Y RER BATHRAG AR USRS IBIET & WY TRER fohdT el g
Options :

1. ¢ (1) B2 SIhidIeD, (I1) TSI PIiad

2. % (1) BISSIDIaD, (1) BIESIhicid

3. % (1) GIESIBIE® (1) B3 SIPbIalerD

AN N

4. % (1) TRSIBIEIID (1) BTSSITbCIh

Question Number : 145 Question Id : 7532291157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

are generally sodium salts of sulphonic acids or ammonium salts with chlorides or bromides ions.
Options :
1. ¥ Detergents



2. % Soaps
3. % PVC
4. % Micelles

Question Number : 145 Question Id : 7532291157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e T-Idh AUT YA SHIIH TG0 §Id § off FARISS AT AHISS ST & 1Y T 5 |
Options :
1. ¢ f&csic
2. % Yid-d
3. % Gididi
4. % 9cy

Question Number : 146 Question Id : 7532291158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct?

1. Carbon is tetravalent because it has four valence electrons.

2. Covalently bonded molecules are seen to have weak bonds within the molecule, but intermolecular forces are strong.
Choose the correct code:

Options :

1. ¥ Only 1

2. % Only 2

3. * Neither 1 nor 2
4. * Both

Question Number : 146 Question Id : 7532291158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. IS Y aTet U3 H iR i gad MY BIdl &, Wb ST SRISMU[S g Jad sidl 6 |
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Options :

1. ¥ $ad |

2. % Hhad 2

3.% 91 RAE2

4. % Gl

Question Number : 147 Question Id : 7532291159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has not been concluded by Rutherford from the a-particle scattering experiment?
Options :

1. #® The positive charge of the atom occupies very little space.

2. % All the positive charge and mass of the atom were concentrated in a very small volume within the atom.
3. # Most of the space inside the atom is empty.

4. ¥ The atom is indivisible and indestructible.

Question Number : 147 Question Id : 7532291159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YEIBTS GRT -0 Tob v TN I FRgferiad & T o9 a1 ey g} Reren mar g2
Options :

1. % ORATY] T Y-TP AR 9gd HH WM RT3 |

2. % TRATY & T YFTEHD TR 3R GHHH TRATY & R §gd HH 0B H disd U1
3. % U] & AR HT BT R Wiel i g |

4.« TR AU SR A=A Bl

Question Number : 148 Question Id : 7532291160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who put forward the following postulate about the model of an atom?
“While revolving in discrete orbits the electrons do not radiate energy.”

Options :

1. ¥ Neils Bohr

2. # Ernest Rutherford
3. ¥ Werner Heisenberg
4. # John Dalton

Question Number : 148 Question Id : 7532291160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRATY o Hied & aR H FAgfeiad sifiyron & feaq ufqurfad fear
"SI HETSH H TH THT SAIC Boll BT (AUl Tal HRdl g 1
Options :

1. ¢ I digx

2. % 3 IS

3. % R gTgoHaT

4. % 9 Slecd

Question Number : 149 Question Id : 7532291161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sub-atomic particle was discovered by J. Chadwick in 19327
Options :

1. # Electrons

2. # Protons

3. % Neutrons

4. % Neutrinos

Question Number : 149 Question Id : 7532291161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® o

2. % gl

3.9 g

4, % I

Question Number : 150 Question Id : 7532291162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is incorrect regarding rules for writing the number of electrons in different energy levels or shells?
Options :

1. # The maximum number of electrons present in a shell is given by the formula 2n%, where ‘n’ is the orbit number or energy level index, 1, 2,
3,....

2. % The maximum number of electrons that can be accommodated in the outermost orbit is 8.
3. # Electrons are not accommodated in a given shell, unless the inner shells are filled.

4. ¥ Electrons are accommodated in an outermost cell before the inner shells are filled in case of gases.

Question Number : 150 Question Id : 7532291162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faftm Sl TRl a1 Hi=M & Saaei-i ot et foras & ot & Hey § fgfoiead o 9 &9 91 7Tad 82

Options :

1. % TP IV T U SaiaeHl &1 ifwad S- G 2n2 GRS ST ©, ST81 '’ Bl H-AT AT Sl TR Yadid, 1,2, 3,... 8
2. % E 9183 Hefl T YA fy S T aral SaaeiHl &! s dd e 8 8|

3. % folt foU 7T O H SaiaeHl & dd I FHTANSId a1 [T STTd &, 516 adb fob SHTdRes BIT Tl WX S |

4. TG & AR T SHTARE BT HRA I U8 Faae -] Bl Jad F18<) I H 3@ A1l g |

Question Number : 151 Question Id : 7532291163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The mass of aluminium is :

Options :

1. % 27 u (13 protons + 14 neutrons)
2. % 27 u (12 protons + 15 neutrons)
3. % 27 u (14 protons + 13 neutrons)
4. % 27 u (11 protons + 16 neutrons)

Question Number : 151 Question Id : 7532291163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THIOH &1 q M §:

Options :

1. ¢ 27 u (13 W + 14 YSH)

2. % 27 u (1291 + 15 ggH)

3. % 27 u (14 U1 + 13 ggi)

4. % 27y (11 91 + 16 ggi)

Question Number : 152 Question Id : 7532291164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solution contains 50 g of common salt in 300 g of water. Calculate the concentration in terms of mass-by-mass percentage of the solution.
Options :

1. % 16 Percent

2. % 7 Percent

3. ¥ 14.28 Percent

4. % 11.1 Percent

Question Number : 152 Question Id : 7532291164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS O | 300 ITH fIeraes ofdd H 50 TH IHI TH76 faad g1 A= &) digal &1 uRea o |

Options :



1. % 16 Ufa=rd
2. % 7yfa=rd
3. ¢ 14.28 gfa=rd
4. % 11.1 yfawrd

Question Number : 153 Question Id : 7532291165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an incorrect statement?

Options :

1. # A solution is a homogeneous mixture.

2. ® The particles of a solution are smaller than 1 nm (10'9 metre) in diameter.

3. # Because of very small particle size, they do not scatter a beam of light passing through the solution. So, the path of light is not visible in a
solution.

4. ¥ The solute particles of a solution can be separated from the mixture by the process of filtration.

Question Number : 153 Question Id : 7532291165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeafaa & § & 91 Tad sy 82

Options :

1. % a9 ue qoTra s 3|

2. % UH A & SU AT H 1 nm (107 Hex) A BIR BA 5

3. % Fgd BIC HUI 3HR & HRUI, [T J ToRA aTc UHIR B fhv) Bl fovdRdl 781 8 | 31 faera= o Uesr=1 &1 /i @S el ol
4. ¢ fded ot ufesan g1 fawam & faaa &orf o1 faeraa § srer far s g g1

Question Number : 154 Question Id : 7532291166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct arrangement of the following substances in decreasing order of forces of attraction between the particles— milk, wood,
hydrogen.

Options :



1. ¥ Wood > milk > hydrogen
2. % Hydrogen > wood > milk
3. % Milk >wood > hydrogen

4. ¥ Hydrogen > milk > wood

Question Number : 154 Question Id : 7532291166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy, Ao o!, BISgIoH HUI & sid ATHYU §d & ucd A J FHafaRad gardl o ug! et |
Options :

1. ¥ APHal >gU> gIgaoH

2. % gIESloH >Adbal > gY

3. % QY >ADhal > gISeIoH

4. % QIS > gY > dAdbal

Question Number : 155 Question Id : 7532291167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If we convert 287 K to celsius scale, we will get:
Options :

1‘ s 13 D‘:

7 % 187 °C

3‘ o 1'4 DC

4 % 24°C

Question Number : 155 Question Id : 7532291167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe 89 287 K PI Y Whd | 9&d §, df 89 U Hl:
Options :

1‘ s 13 D‘:

n ® 187 °C
3‘ V/ 1'4 DC

4 % 24°C

Question Number : 156 Question Id : 7532291168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are known as suicide bags?
Options :

1. # Golgi bodies

2. % Lysosomes

3. ¥ Mitochondria

4, % Ribosomes

Question Number : 156 Question Id : 7532291168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o 9 frd sirerart 3d & ¥9 § ST STl 82
Options :

1. % Tiesil A

2. ¢ ASHNEH

3. % HrEIpI3dl




4. % JZENH

Question Number : 157 Question Id : 7532291169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of a Prokaryotic cell?

Options :

1. # These cells do not have a well-organized nucleus.

2. # The genetic material is a single molecule of DNA lying in the cytoplasm.

3. % Membrane-bound organelles, such as mitochondria, endoplasmic reticulum, lysosome, chloroplast, nucleolus, etc. are present within the
cytoplasm.

4. ® Bacteria and blue-green algae are examples of this type of cell.

Question Number : 157 Question Id : 7532291169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea § 9§ oH MeRaiies HIfRw 3t faRivd 981 82

Options :

1. % A DIRGISH H U JHARIT s o] gial g

2. % JTIARIG AT PIfRTHT G0 T FRUT ST HT T Uhdl S1U] AT & U Sl g |

3. ¢ R foR ST S T AZeiop it a, TSIWIo e ehaH, asaia, FARIGRS, e 3G TTSeIwed & &R JURId 8Id ] |
4. % Sfia 3R Fia-gRa aTd 39 YHR &1 HIRABT & I 3 |

Question Number : 158 Question Id : 7532291170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is incorrect?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :



1. A girl is born with fixed number of ova (eggs).

2. The first menstrual bleeding is called menarche.

3. Stoppage of menstruation at an age usually between 45 years and 55 years is termed menopause.
4. A pair of ova (eggs) are shed alternately from each ovary every month.

Question Number : 158 Question Id : 7532291170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad § & o e 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. frdht ! &1 o7 GBI | 3(Ust & I a1 B |

2. T XS1-UATE /FBIed B BT T0RY Ht Hgd 5

3.45 T8 55 T B 1Y H Ioldeh & vh+ Bl XSG el ol g |
4. TS STe 3fS IR -aRT 9 TR A1E Udh-Uah 3SR ¥ Fdhard g

Question Number : 159 Question Id : 7532291171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where does the fertilization in human females take place?
Options :

1. ¥ Fallopian tube

2. # Uterus

3. % Cervix

4. % Blastocoel

Question Number : 159 Question Id : 7532291171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Aa Arereii § 8 sl g 22
Options :

1. ¢ 3f&arfg-t

2. % THIRE

3. % Wide

4. % SRS

Question Number : 160 Question Id : 7532291172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following contraceptive methods interfere with ovulation and prevent release of ova from the ovaries?
Options :

1. % Diaphragms

2. % Copper T

3. ¥ Oral Contraceptive Pills

4. % Tubectomy

Question Number : 160 Question Id : 7532291172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed 3 3 oF @ iRy fafd sreiert & a1u1 STadt § SR SISRM ¥ &9 &1 e I At 82
Options :

1. # STAThIH

2. % DR

3. ¢ Hifde T RIY® Tiferai

4. % R
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Group Id : 75322964



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20
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Section Id : 75322964

Section Number : 1
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 75322976

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 7532291173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following diseases is caused by Treponema pallidum?
Options :

1. #* Gonorrhoea

2. % Syphilis

3. ® AIDS

4. # QOsteoporosis



Question Number : 161 Question Id : 7532291173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § & SH-91 A7 CUHHT UeisH & HRUI BIdT 82
Options :

1. #® Jollh

2. ¢ Rywferd

3. ¥ TgY

4. % SHRCAURIRY

Question Number : 162 Question Id : 7532291174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is transmitted by the female Culex mosquito?
Options :

1. % Malaria

2. # Dengue

3. ¢ Filariasis

4. # Congo fever

Question Number : 162 Question Id : 7532291174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofafed o @ 19 el Fue AR J Hadl 82
Options :

1. % HoifAm

2. % 3T

3. ¢ ISR

4. % BN FER

Question Number : 163 Question Id : 7532291175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a Protein Energy Malnutrition (PEM)?
Options :

1. % Night Blindness

2. ¥ Marasmus

3. # Goitre

4. % Anaemia

Question Number : 163 Question Id : 7532291175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafifad & § S eH Suf garo @) 22
Options :

1. % dreh

2. ¢ WY

3. % TR

4. % 3addl

Question Number : 164 Question Id : 7532291176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following minerals’ prime function is to maintain growth and keep osmotic balance of cells and blood?
Options :

1. * Tron

2. % Calcium

3. ¥ Potassium

4. % Todine

Question Number : 164 Question Id : 7532291176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gl

2. % Hfckrgw

3. ¢ Uiy

4. % 3IISH

Question Number : 165 Question Id : 7532291177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the insulating fatty sheath that covers the axon of most neurons?
Options :

1. ¥ Neurilemma

2. ® Synapse

3. ¥ Synaptic cleft

4. # Nodes of Ranvier

Question Number : 165 Question Id : 7532291177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B dfemTel § diiw-dq aur-smse gRT 33T, gl 7, fo a1 gd 82
Options :

1. ¢ RIS

2. % 3FAUYA

3. % RAR®S @RR

4. % FOR Y

Question Number : 166 Question Id : 7532291178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following meninges of the human brain forms the thin delicate middle layer giving a web-like cushion?



Options :

1. # Dura mater
2. # Pia mater
3. % Arachnoid

4. % Ven mater

Question Number : 166 Question Id : 7532291178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o § e afFeT Aa ARass § gda, S Hed a8 § S U STl Te) U&H &l 82
Options :

1. % SRMEXR

2. ¥ URHER

3. ¢ IRNFAZS

4, % gIHR

Question Number : 167 Question Id : 7532291179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?
1. 31 pairs of spinal nerves emerge from the spinal cord.
2. The functions of sympathetic and parasympathetic nervous systems are complementary to each other.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 167 Question Id : 7532291179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 91 HY= Tad 82



1. TR ¥ 31 Slie! WsAd dfeTd Fdbad g
2. 3IHUN IR RIHW T TS F TH IR S Rh & |
Options :

1. % Had |

2. % Had 2

3. % gl 1 3R 2
4.1 RAE 2

Question Number : 168 Question Id : 7532291180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many chromosomes are there in a sperm and an ovum or an egg of human-beings?
Options :

1. % 20

2. % 21

3. % 22

4.+ 23

Question Number : 168 Question Id : 7532291180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & T 1Y) SR T $9 A1 T 318 H foba URE B 7
Options :

1. * 20

2. % 21

3. % 22

4.9 23

Question Number : 169 Question Id : 7532291181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following belongs to Eukarya domain of classification?



Options :

1. # Lokiarchaeota
2. ¥ Entamoeba

3. ¥ Cyanobacteria

4. % Crenarchaeota

Question Number : 169 Question Id : 7532291181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed & @ &1 a1 arffeur & ghaf gHe-a | Feifid 82
Options :

1. % qfmardbarer

2. ¢ QeT3HiEr

3. % ARG R

4. % TG

Question Number : 170 Question Id : 7532291182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements about a kingdom —

1. It includes multicellular or many celled organisms.

2. The body is made of network (mycelium) of fine threads called hyphae.
Which of the following is an organism belonging to this kingdom?

Options :

1. ¥ Amoeba

2. % Chlamydomonas
3. ¥ Mycobacterium
4. ¥ Mushroom

Question Number : 170 Question Id : 7532291182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS S & aR H Ffaied A R fearR &9 -

1. 30 SEHIRIDGIT TT s HIFADT aTel oid A 3|

2. 37 IRR TRGT (HAeaH) T TE Umi & offd I s 8l &
FafaRed & I &I 39 o9 ¥ J&fid offa 87

Options :

1. % 3fHE

2. % FAURSIHANY

3. % HIEPIAaIgH

4. ¢ HRR=YH

Question Number : 171 Question Id : 7532291183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of Phylum Porifera?
Options :

1. # Hydra

2. % Planaria

3. % Sycon

4. * Pin worms

Question Number : 171 Question Id : 7532291183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed § I ®1F wread UIRwhRT &1 3aTeRul 52
Options :

1. % gIggl

2. % AR

3. ¢ AIEHH

4. % fOqaH

Question Number : 172 Question Id : 7532291184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following belongs to the same division of Kingdom Plantae?
Options :

1. ®¥ Ulva, Funaria, Ulothrix

2. % Marchantia, Marsilea, Fern

3. ¥ Riccia, Marchantia, Funaria

4. ® Spirogyra, Riccia, Cycas

Question Number : 172 Question Id : 7532291184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafifed & I RbTew widl  To & Rdior § Tt 2
Options :

1. ¥ 3{cdl, ERIﬁﬁ'EIT, Q?ﬁﬁl?ﬁ[ (Ulva, Funaria, Ulothrix)

2. % II'IT%&PJT, m, th_*f (Marchantia, Marsilea, Fern)

3. Nfgar, A R, EP@'&TIT (Riccia, Marchantia, Funaria)
4, ® @I@Tﬂw, ﬁ‘@:ﬂﬂ, HIghH (Spirogyra, Riccia, Cycas)

Question Number : 173 Question Id : 7532291185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements are not true regarding Ammonia?

Options :

1. ® It is readily soluble

2. ® It is generally excreted by diffusion across body surfaces or through gill surfaces (in fish)
3. ¥ Kidneys play a significant role in its removal

4. ® The process of excreting ammonia is Ammonotelism

Question Number : 173 Question Id : 7532291185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafad & @ oF oy smifaa & ddy & I T8t 32

Options :

1. % g M ¥ Yo g

2. % T8 M A 3mfgH 3l & w0 H IRR ot Iag a1 usferdl & Fad (el o) Ideg 3 faaRur gR1 I&fid 81 od §
3. ¢ SRR B B fpe &t 3 Y1 S 1

4. % AT & IO B Ufshar ST g1

Question Number : 174 Question Id : 7532291186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A minute vessel of peritubular capillaries network runs parallel to the Henle’s loop forming a ¢ > shaped vasa recta.
Options :

1.¥ U

2.%V

3.%D

4, % 7

Question Number : 174 Question Id : 7532291186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GRATIeTeRT DITRTehT SiTel ¥ e dTell U Teb Y&H dlfghl 5al-U & IR deid §U THR D1 AT IIT YT ST B |
Options :

1.¥U

2. %V

3.% D

4. % 7

Question Number : 175 Question Id : 7532291187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An increase in blood flow to the atria of the heart can cause the release of ANF. What is the full form of ANF?



Options :

1. ¥ Atrial Natriuretic Factor

2. % Ariel Nephrotic Factor

3. # Angiotensin Natriuretic Factor
4. ® Antidiuretic Nephrotic Factor

Question Number : 175 Question Id : 7532291187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g&d & Sffcial H o SR & 981 ¥ TEA.UB. (ANF) H1fdd 811 51 L., 31 quf wu T g2
Options :

1. ¢ Td AfeRfes Thaex

2. % TRUA AWIeH Baex

3. % TG Afeqfes thaer

4. % TASIRITH Ahifed Thaex

Question Number : 176 Question Id : 7532291188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The movement of nutrients in a cyclic manner in the environment constitutes which of the following?
Options :

1. ¥ Biogeochemical Cycle

2. # Inorganic Life Cycle

3. # Organic Life Cycle

4. % Biosphere Cycle

Question Number : 176 Question Id : 7532291188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR § UV dcdl &bl Ish 19 dilo I Tga Rgfafad & O fegeT 61 &d1 22

Options :




1. ¥ §d YIRS Feh
2. % JBIED Sita I
3. % Sfge ofigd Th

4. % SigHed I%

Question Number : 177 Question Id : 7532291189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the largest source of Nitrogen?
Options :

1. # Urban Waste

2. % Geological sources

3. # Livestock and Poultry operations

4. ¥ Atmospheric Nitrogen

Question Number : 177 Question Id : 7532291189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied # § 19 g ior &1 Jad a1 Jid /7
Options :

1. % g Uy

2. % YaqI-® Ad

3. % TR 3R Hagpe JdTeH

4. ¢ qgHSHN ATSCIoH

Question Number : 178 Question Id : 7532291190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A normal human being on an average breathes how many times in a day?
Options :

1. % 43,000 Times



2. % 59,000 Times
3. # 44,000 Times
4. % 22,000 Times

Question Number : 178 Question Id : 7532291190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T JHG TS 3ga fe o fb et IR I/ A 32
Options :

1. % 43,000 dX

2. % 59,000 dR

3. % 44,000 dR

4.+ 22,000 dR

Question Number : 179 Question Id : 7532291191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What percentage does Oxygen contributes in the composition of Air?
Options :

1. # 78.03 Percent

2. % 20.09 Percent

3. % 0.94 Percent

4. % 0.033 Percent

Question Number : 179 Question Id : 7532291191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & o H HTRfoH &1 fara= ufawra anre™ 82
Options :

1. % 78.03 Ufd=rd

2. ¥ 20.09 Uf=Id



3. % .94 gfaerd
4. % 0.033 gfaerd

Question Number : 180 Question Id : 7532291192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used as oxidant in rockets to burn the fuel?
Options :

1. ¥ Liquid Oxygen

2. # Liquid Nitrogen

3. % Liquid Helium

4. # Liquid Argon

Question Number : 180 Question Id : 7532291192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 fordeT ST Adve | S 1 ST o fod SHTRfig e & = | fora S g2
Options :

1. ¥ &4 IR

2. % gd Agclo

3. % g giferH

4. % 5 3T

Discipline5
Group Number : 10
Group Id : 75322965
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 10
Is this Group for Examiner? : No
Discipline5
Section Id : 75322965
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322977
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7532291193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Excessive use of Fertilizers and pesticides in agriculture has led to which of the following phenomena?
1. Eutrophication

2. Photochemical smog

3. Decantation

Options :

1. ¥ 1 only

2. % 3 only

3. * 1l and 3 only
4, % 1,2 and 3

Question Number : 181 Question Id : 7532291193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
H T IRPI R DICARID! & RIS TN & HRUT R H F DI A g g5 82

1. gayor
2. BIclb e d WM

3. fagepaur
Options :

1. ¢ $Had |

2. % $Had 3

3. % PHad | 3R 3
4. % 1,233

Question Number : 182 Question Id : 7532291194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ozone is a molecule formed by how many atom of oxygen?
Options :

1. # One

2. % Two

3. % Three

4. # Four

Question Number : 182 Question Id : 7532291194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS T 310 & S SHTereor 3 fobe) TRHTO] Q w7l &9
Options :

1. # Uh

2. % Q)

3.¥ A

4, % IR



Question Number : 183 Question Id : 7532291195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main layer of atmosphere from the surface of earth up to 10 kms 1s called-
Options :

1. ¥ Troposphere

2. # Stratosphere

3. ¥ Mesosphere

4. % Thermosphere

Question Number : 183 Question Id : 7532291195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g2l 1 g ¥ 10 ol db argHed &1 8 IR boelidl o
Options :

1. ¢ CIURGIR

2. % WP

3. % AYEDBIR

4. % YARWBIR

Question Number : 184 Question Id : 7532291196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The hardness of water is due to the presence of salts of which of the following?
Options :

1. % Magnesium and Potassium

2. % Calcium and Magnesium

3. #¥ Potassium and Calcium

4. ® Potassium and Sulphur

Question Number : 184 Question Id : 7532291196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U Y e e FrgRiRd & @ Rrad au ) SurRiR % HRur a8
Options :

1. % TIREW SR UielRa|

2. ¢ BRI SR TR

3. % Uy $iR siekrad

4. % ORREOA 3R I

Question Number : 185 Question Id : 7532291197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Increased carbon dioxide level in earth’s atmosphere leads to the phenomenon of
Options :

1. % Acid Rain

2. # Photochemical smog

3. ¥ Greenhouse Effect

4. % Ozone hole

Question Number : 185 Question Id : 7532291197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt & IgHSH H Hlad SRATRRES HIWR T d DI eI gl o
Options :

1. % 37 auf

2. % BIcIhHdmd A

3. ¢ YB3 UHId

4. % IS fog

Question Number : 186 Question Id : 7532291198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT a domestic source of Soil Pollution?
Options :

1. # Plastic Bags

2. ¥ Fertilizers

3. # Kitchen Waste

4. # Glass Bottles

Question Number : 186 Question Id : 7532291198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § & S gar uguur o1 TRy Fid T8 82
Options :

1. % WIS o

2. ¥ IRD

3. % 39S 3Ry

4. % BT DI dldd

Question Number : 187 Question Id : 7532291199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Soda Lime process to convert hard water into soft water is also known as?
Options :

1. ¥ Clark’s Method

2. % Maxwell’s Method

3. % Weiner’s Method

4. ¥ Bohr’s Method

Question Number : 187 Question Id : 7532291199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HOR o B! XA o § ST AT §RT daei BI UlchdT bl b A8 J ST STl 672

Options :




1. ¢ gdTh UG
2. % DRIAd Ughd
3. % IR UG
4. % §IgR Ughi

Question Number : 188 Question Id : 7532291200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a micro-nutrient present in the soil essential for plant growth?
Options :

1. % Magnesium

2. % Sulphur

3. ¥ Tron

4. % Calcium

Question Number : 188 Question Id : 7532291200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o ¥ ®F-91 Y& Uive da firg! § Hieig g S Uil &t 3fg o o sa=as® g2
Options :

1. % TEifRrw

2. % e}

3. & gl

4. % PHickry

Question Number : 189 Question Id : 7532291201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are called ‘draught animals’?
Options :

1. % Milk-producing female animals



2. ¥ Animals used for farm labour
3. % Egg-producing animals
4. ¥ Poultry Animals

Question Number : 189 Question Id : 7532291201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafea & I f5d wdie SIHaR 81 STdT 82
Options :

1. % g8 U R aTel HIeT SR

2. ¢ Wd T BIH B dTd Ug

3. % 38T U HA aTdl SHaR

4. % PIPTIY

Question Number : 190 Question Id : 7532291202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an example of weed?
Options :

1. % Spring Onion

2. % Carrot Grass

3. # Lemon Grass

4. % Basil Plant

Question Number : 190 Question Id : 7532291202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad # ¥ o9 91 WRUTIR &1 IS8R0 82
Options :

1. % gUd W

2. ¥ ISR Y




3. % gy
4. % o BT
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Group Id : 75322966
Group Maximum Duration : 0
Group Minimum Duration : 120
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Section Id : 75322966
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Sub-Section Id : 75322978
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 7532291203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following can be a source and form of gender discrimination?
1. Government policies

2. Family and parents

Choose the correct code.

Options :

1. % Only 1

2. % Only2

3. ¥ Both 1 and 2
4. % Neither 1 nor 2

Question Number : 191 Question Id : 7532291203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad & I &4 1 Ay &1 9d 8k U 81 9ol 82
1. BRI Hifc

2. AR SR ATar-fiar

el pls |

Options :

1. % odd |

2. % Hdd 2

3. ¢ 1 3R 2GHT &l

4. % A 17T 2

Question Number : 192 Question Id : 7532291204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Census 2011, what is the child sex-ratio in our country?
Options :

1. % 940

2. %932

3. % 925

4. ¥ 914



Question Number : 192 Question Id : 7532291204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 P SFIIUMT & SFIHR §AR o1 H &6 fAmgurd fean g2
Options :

1. % 940

2. % 932

3. % 925

4.¥914

Question Number : 193 Question Id : 7532291205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true?

Options :

1. ® Prenatal (before birth) and postnatal (after birth) development of human beings follows a pattern or a general sequence.
2. % The direction of development is ‘cephalo — caudal’ as well as ‘proximodistal’ direction.

3. ¥ The process of development is continuous starting from the conception through birth to maturation.

4. ® Girls mature earlier in comparison to boys.

Question Number : 193 Question Id : 7532291205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 A I T T TR B2

Options :

1. % 9 g4 3R S UYTd {14 I &1 A U UfaH 31 U ATHG HH BT SJH0 SRl |
2. % fqoTy @1 fn iU gt & ary ary geowy iRz # Wi g |

3. ¢ 3o &) ufgsar THiU™ ¥ AR 571 T uRusdr & AR Il 38l o

4. % TSfhat TSP B! ga-T H Ugd URUS gl STl g |




Question Number : 194 Question Id : 7532291206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the first of its kind “All India Seminar on Teaching Science in Secondary School” held at Simla Hills?
Options :

1. ® 1950

2. % 1953

3. % 1956

4. % 1961

Question Number : 194 Question Id : 7532291206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rrer foed & oot aRg &1 ugen "Hefie faemer # fagm e wR sifed yRdrg Sl forg o smaifoid fasan mar ure
Options :

1. % 1950

2. % 1953

3. ¥ 1956

4. % 1961

Question Number : 195 Question Id : 7532291207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as an accepted hypothesis?
Options :

1. ¥ Theory

2. * Natural Law

3. * Fact

4. % Evidence

Question Number : 195 Question Id : 7532291207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 frd Wied aReeaT & U ST ST 82
Options :

1. ¢ Rygid

2. % YThfde Had

3. % dY

4. % JHIT

Question Number : 196 Question Id : 7532291208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following in his book “Structure of Science” defines Paradigm shift as a scientific revolution?
Options :

1. # Karl Popper

2. % Thomas Kuhn

3. # Imre Lakatos

4. # Richard Rorty

Question Number : 196 Question Id : 7532291208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed & | fram ot geae fam @t TReA | Ufaa scerd ©) U aei-e Hifd B8l 8?
Options :

1. % $Tdl IR

2. ¥ YIag $g

3. % U ATHAN

4. % R=s At

Question Number : 197 Question Id : 7532291209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Inductive-Deductive approach is best method for teaching -
1. Science

2. Grammar

3. Mathematics

Choose the correct code.

Options :

1. # Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
4.9 1,2and 3

Question Number : 197 Question Id : 7532291209 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

M- IUNH S favy o1 g & for e IaH fafir g2

1. fasm=

2. STHITT

3. 71ford

g D18 I |
Options :

1. % Had 1 3R 2
2. % Had 2 3R 3
3. % $Had 1 3R 3
4.9 1,233

Question Number : 198 Question Id : 7532291210 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of formative assessment?
Options :

1. # Grades do not carry much weight

2. # Frequently administered during the teaching-learning process

3. # Can be flexible as per the needs of the students

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4. ¥ QOutcome oriented

Question Number : 198 Question Id : 7532291210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad § O B9 gorars Py ot faRivar 787 82
Options :

1. % I8 31 3 Aewd TeT g 8

2. % SRR Rreror- 3 wfthan & SR frar Srar 8
3. % g P SAIBATS P TR e Bl &

4. ¢ GRUMM gRT FAyiRd

Question Number : 199 Question Id : 7532291211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which teaching methods is Socrates an exponent of?
Options :

1. ® Lecture method

2. % Demonstration method

3. # Tutorial method

4. ¥ Question-answer method

Question Number : 199 Question Id : 7532291211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ga1d ford fRrerur ugfa & ufdureds €2
Options :

1. % R fafy

2. % o fafd

3. % HEIRygd fafd

4.« GY-JR fafy




Question Number : 200 Question Id : 7532291212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. ¥ Multi-grade Teaching is a situation where multiple teachers teache several classes at a time.
2. ® Multi-grade teaching is seen in the developed as well as in the underdeveloped countries.

3. # Multi-level teaching is related with Mono-grade situation.

4. ® Multi-grade teaching is more effective by the appropriate sitting arrangement.

Question Number : 200 Question Id : 7532291212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead & 9 &9 91 Sy 7Terd 82

Options :

1. ¢ Sg-He e U Ut AT § STt s a1 U S99 & s, Baflsh &l ugld g |
2. % Fg-Hef Refur fasRid iR SifamRid o= & a1 Jrar g

3. % S5-I R1emr ueh- e Ryt 9 defia g

4. % 939 P IRIT IR GRT Tg-H&fT e 34fw gyrd g |




